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2.3 Fake AP
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2.7 WEP (Wired Equivalent Privacy)
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2.8 WPA, WPA2 (Wi-Fi Protected Access)
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2.9 TKIP (Temporal Key Integrity Protocol, TKIP)
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2.10 CCMP(CTR with CBC-MAC Protocol)
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2.11 IEEE 802.1X
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2.12 PSK(Pre-shared Key)
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2.13 Deauthentication IfZl
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Terminal = 0 Terminal =

File Edit View Search Terminal Help
jf'_"i "I‘H{"'*LL‘L}

BLACKLIST ENROLL

list enroll DB fo MAP!

WHITELIST ENROLL
list enroll DB to MAP!

packets waiting...
—F=t=k f=k=t

AP MAC CHECK
pkt comp: ith ac a3 le 89 c3 ed
bssid 0@ 27 1c b7 9f @9
8l £ AP MAC(WHITE)

disordered! (AP MAC)

61 513
IBSS (WHITE)
E g & 185S(BLACK)

disordered! (ad_hoc)

FAKE AP CHECK

00 27 1c b7 9f 89
40 =9
SSID JBU-WiFig H

Fle Edit View Search Terminal Help
2| AE0 gl IBSS(BLACK)

disordered! (ad_hoc)

FAKE AP CHECK
BSSID: 00 27 lc b7 9f 09
3 13l AP ss10Z 0| =9

LISTO| M % & SSID JBU-WiFi®l H D12

i @& SSID(WHITE)
Al 8l & SSID(BLACK)

disordered! (FAKE AP)

AP RULE CHECK

= AP PULEfWHITE)
B ‘: AP RULE(BLACK)

disordered! (AP RULE)

=SEND QUERY=

update blk!! INSERT INTO wips black blacklist (ap mac,channel,block stat,ap auth,ap_cipher,
ap_enc,mac_type,ad hoc stat,ap ssid) VALUES ('0e271cb79fes’,1,1,19,15,20,0,0, U+NetaFeB’)
SSID (WHITE) update log!! INSERT INTO wips home blocklog (mac,atk type,block stat) VALUES ('08271ch79fe)
SSID (BLACK) 9',! UNDEFINED AP MAC AD HOC FAKEAP MISCONFIGURE AP',1)

[AE1. MY 2tH]



Ad-hoc HESA

cmp ibss with ©

I‘LISTED IBSS! (WHITE)
BSSID: ac a3 le 8a 38 41
cur leng is 8

[O&l2 Ad-hoc EHH]

void usrfunc:adhocFunc(listload& listMan2)
{
WHTFlag = false; //true in whitelisted packet
BLKFlag = false; //true in blacklisted packetd
//wht list!
printf("CHECK IBSS Wn #n");
for(it = listMan2.WhiteList.begin();it !'=listMan2.WhiteList.end();it++) {
bwDatas = (listload::bwList)it->second;
macCmpFlag = memcmp(&(bwDatas.apMac),&(MN->BSS),6);
printf("MAP2| IBSS %f %d 1t H|EWn"bwDatas.adHocStat);
If(macCmpFlag == 0) {
cmpFlag = memcmp(&(bwDatas.adHocStat),&(IBSS_Status),1);
ifcmpFlag == 0) {
printf("0[0] XZHEl IBSSI(WHITE) Wn");
WHTFlag = true;

break;
~ 0|5} 2k ~
802.11 MAC F4 =Y =4
- -3 L3
Frame | Duration/ A2l DE e FEE
Sl D DA | SA BES ID H o mce FCS
0~2312
HHo| =
Chort Channel
ESS | IBSS Pnﬁz_ble F;ZEF_LF:EE* Privacy |Preamble raggcl(]:_b] agility | .02 .
it (802 11h) | \°Y< (802.11b)
HED 1 2 3 4 5 7

6
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RULE CHECK

:27:1c:b7:9f:09

ol A -

2| AE0| g AP RULE(WHITE)
: # 2F = AP RULE! (BLACK)

int usrfunc:misconfigureAP(listload& listMan2)

{

~ B .

//********************* FIag GEFRFKIKIKKAK KKK KA KA

if(sM.oUI[0] == 0x00 && sM.oUl[1] == 0x50 && sM.oUl[2] == Oxf2 &&

sM.gCSS[0] == 0x00 && sM.gCSS[1] == 0x0f && sM.gCSS[2] == Oxac)//OUl
00-50-f2 && OUl 00-0f-ac -> WPA2

{
//a = 20; //WPA-2 flsg:20
sF.enc = WPA2;
sF.groupCipher = Cipher(sM.gCSS[3]);
sF.pairwiseCipher = Cipher(sM.pCSS[3]);
sF.auth = Auth(sM.aSS[3]);
}
else if(sM.oUI[0] == 0x00 && sM.oUI[1] == 0x50 && sM.oUI[2] ==
0xf2)//0Ul 00-50-f2 -> WPA-1

~ O[3} M2 -




IEEE 802.11 -> Z2[Z2fQ -> HZ=ZY Y -> FMEE -> RSN, Vendor
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6. HIZ SHIHA s (B284)

Element ID| length JHEEo] e

RSN(Robust Security Network)

oo

APO| EOt 53 (Security Capability)2 FMEHZLOH L2{F7| ¢
(=Al 21) RSN IE ID : 48
Element ID (1 HIO|E) : 48 => (RSN IEE g
Length (1 HIO|E) : H}Z LS Version ZEEEH E7tX|Q] ZO|
Version (2 HIO|E) : X 2
802.11i &0 HE 802.1X 7| #2| 7|5& &3, CCMP Y23t 7hses 2[0|
Group Cipher Suite Selector (4 HFO|E)
- AP} ZTE DE MO HUjlE ERZEI|AE HEFIAE T e AS3l6}7|

O

flet O& 71(Group Key)ofl CHeF OUICHE ID) X Cipher(2= ID) MEHXtE T4 E

- WEP, TKIP, CCMP 52| {EH
Authentication and Key Management Protocol (AKMP)
- W o7|He ZRES

=)




¥ Cipher Suite Selector &4

3 Hjo|E 1 HC|E
oul | suite type |
Suite B DUl Suite type 20|
0 Group Cipher Suite AHS
1 WEP-40
; 00:0F-AC 2 TKIP
C;E;zr (IEEE 802.11) 3 CES
4 CCMP
5 WEP-104
7| El wendor OU| X vendor specific
0 (ol eh
R 00:0F:AC 1 g02.1x 215 (O3
ik (IEEE 802.11) 2 Psk 215 Pl 2L.SOHO)
3~255 e
7| Et wendor OU| X vendor specific
ol ‘E__L; g 8 4 n ol E
e 6. . gi3.]lB35]E5E=]| 558 =| = B
= - i E =T ek A | 3 = = R = [w] _—
sE| (858 Es2| 258|228 |23 S| ¢
T =1 o = T T s
sgl=| [T Aes dad| %Y ka4 | §l | =
o 5 G Y < Ul o
1 2 4 2 4x7i 2 4x71H 2 2 16x7HH
[(185 RSN 7= B BE]
Tz = =5 gy H|
BHOrZ OfLL}
e | gy 1 ]
7 S5ID =4 = - HAUFoZ ME
2E B HOL2 OfL|L}
MAC 215 - " |zaumozwo s
i B FTe =z
57| WEP - RCA HIZ= 5
WEA 802.1x/CHESt EAP| TKIP RSN IE (ID 48)
o|= s - — Vendor-specific
P i C {a] !.
oS s 802111 | 802.1x/CHETE EAP clement
WPA2 | 802.1x/CHETH EAP AES (ID 221)

(186 72 Y4 b
Vendor specific

oo EEE 80211 EEOIM MO|SIR &t WOjRLEN HEE oSN AFRE & ct
Element ID (1 HFO|E) : 221 => (Vendor specific)

length (1 HIO|E) : HtZ CISEERH E7X|2Q Z0|
oul (3 HIOIE) :

Vendor specific type(1 HIO|E) :

DATA(7}H)



Element |Lengt |OUI |Vender Specific OUI |WPA Multicast Cipher Suite
ID h 3byt |Type Version OUl

Multicast Cipher Suite Unicast Cipher Suite Unicast Cipher Suite OUI(3) /
Type Count Type(1)

Auth Key Management Suite [Auth Key Management OUI(3) /
Count Type(1)

[37 Vendor specific T+X]

WPA E& g4 LS50 25U

WPA 24 ID= 0x2212 HFELCL WPA 224 IDE 32 24 §3 24 DL
SLYLICH Matd E R0l @4 ID7h 4 2 WOtEt Station / AP7F BE 247t
WPARIX| 2t2I5t7| 28 OUIE AAlsHOFRfL Ct.

WPA OUI (Organizationally Unique Identifier)= 00-50-R22 &7 & L|Ct.

o0t SHE § 7% B

00-50-F2 0 JE oto B2 A8
00-50-T2 1 VEP-40

00-50-12 2 TKIE

00-50-12 3 oo

00-50-i2 4 CCMP(of 2F429)
00-50-72 5 VWEP-104

[1E8 Suite OUI & Type]

TKIPE= WPAQ| 7|2 2= ZZYL|C}

3 : WEP-40 % WEP-104£ TSN (Transition Station Network)e| 1& &5 IES=Z
ArgE = USLICH

AKM 7t2E - Q15 7| 2| 7IR2E& X|Y¥E& 2T 7 2!
AKM =& - X|J{E|= ChYdst 215 HAHLIES| 2Lt B2 g2 ¢z 23 I /Y

=g & LFE LIEHLCH

T Ol = On 1o
Ol AUE = M oj0
D0-50-12 0 e helgial
00-50-2 | 802.1¥
D0-50-12 2z PEE

[O1&9 Auth OUI 8! Type]
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Protected Frame

202 11 MAC 3| =% =4
" Ml = T
Frame |Duration/| Address |Address|Address | A| 22~ | Address Frame et
Control D i 2 3 o 4 body
2 s 5 6 2 6 0~2312 4
""--—-_________ HLO| E
Protocal To | From | More ... | Power |More|Protecied
Ver. Type [Subtype Ds B Flag SELY Mgmt | Data | Frame et
2 2 4 1 1 1 1 1 1 1 1
H E
[Z1210 Protected Frame TX]
Protected Frame ZE7F 0 O|H OPEN 10|H WEP A™H o=z EX|EL|C}.
FLAG M &
- ENC CIPHER AUTH
0 OPN
(OPEN)
1 WEP - -
11 I3 2ZAHE(0)
17 of| 2FA4(0)
10 WPA 12 WEP-40(1)
13 TKIP (7]%)(2)
18 802.1X(1)
14 of| 2FA(3)
20 WPA2 15 CCMP(4) 19 PSK(2)
16 WEP-104(5)

(a2 283 FLAG 4]

2|2| RSN, Vendor specific?] HEQA %% TZEZE QZHA ASANZZF FLAGYULE
M 5to] XL
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Client Mis-Association(H| 217} AP <)

AP MAC CHECK

pbt compdre with ac a3 1le 89 c3 e®

bssid 78 25 59 16 9e 20
s B ) 1 AP MAC{WHITE)
cmp with 00 27 1c b7 9f 09
cmp with 78 25 59 16 9e 208
A A=l AP MAC! (BLACK)

[A2112 AP MAC A 3]

void usrfunc:macCmp(listload& listMan2)
{
WHTFlag = false; //true in whitelisted packet
BLKFlag = false; //true in blacklisted packet
RadiotapHeader *RH = (RadiotapHeader*)(pktPoint);
int length = RH->length;
ManagementFrame *MF = (ManagementFrame*)(pktPoint+length);
int cmpFlag = O;
listload::bw_list:iterator it;
printf("AP MAC CHECK ¥n #n");
//wht list!
for(it = listMan2.WhiteList.begin();it !'=listMan2.WhiteList.end();it++) {
bwDatas = (listload::bwList)it->second;
printf("pkt compare with %02x %02x %02x %02x %02x %02x
Wn" bwDatas.a pMac[0],b
wDatas.apMac[1],bwDatas.apMac[2],bwDatas.apMac[3],bwDat
as.apMac[4],bwDatas. apMac[5]);

~ O[3} A4zt -~

MAC 3|5 GIOIE Trailer
< - > € » < »>
Frame |Duration/| £ | & |4 [Sequence| T4 Frame £CS
Control ID 1 2 3 Control | 4 body
2 2 6 6 6 2 6 0~2312 4
H5FO| E

[1213 802.11 MAC =2 ¥]

Cient Mis-Association2| EfX|= Data Packetl| FA1, TA2, FA32 EAM510] 25 AP}
QI7tEl AFEXFC| MACO| AEE[= AS BFX|RHL|CL
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Fake AP Check

FAKE AP CHECK

c5 81 1@ d3 86
AP SSIDA 0| = 9

18

4 2t = SSID JBU-WiFig}

Hl » S

2| A E g

ssid

[12114 FAKE AP A 3]

void usrfunc:fakeAp(listload& listMan2)

printf("FAKE AP CHECK #n #n");
struct packframes::WifiName *wifiName

{
WHTFlag = false; //true in whitelisted packet
BLKFlag = false; //true in blacklisted packet
uint8_t* pktPoint2 = this->pktPoint
printf("====================z=======z===========z========
wn');

//BSS|DFFrrsasadas s HHFAFIA IS //
printf("BSSID: ");
for(int i=0; i<6; i++)
{
printf("%02x ", mgmtFrame->addr3([i]);
}
printf(" #n");
J/SSID**rkkkkkRkRRR SRR RN KEREIRRER AR A * %/
pktPoint2 += (RTHeader->rth_length + sizeof(struct
packframes:ManagementFrame) ~ O[5} MEf ~
o HIZ T (subtype = 1000)
=gt 23| 3 UIERS ENS Sl RE2 T8
802.11 MAC 3| =Y EH
- =
_ Time | 512 | 53 4
FC | D |DA | SA |BSSID | SC stamp| 7+ | B 551D mce FCS
2 2 6 6 B 2 8 Z 2 1 T 4
‘ == N

_13_




o (=M 4) 5510 (Service Set |dentifier) (oo

- 0i21 PSS DEEHIZI SIY DIQISES, BEAYI AL HHlA HIBR T

1 1 0~ 32 H0|E

Element
th oD BExid
o rerg__ D =

[1215 BSS ID ¥ SSID]

Fake AP 542 X3t mZle| SSIDQt YX|St= I0|EZ[AEQ Ue= APL| SSID7F J=X|
2HIStLt,

S Ut SSID7F =Xste E2, WA 1iZl9l BSS ID2F ST APS| MAC FAE H|W$HCL,

Aok D2l BSSIDRF AP2| MAC FA7t YX|SHX| %2 U Fake AP SZ40| LMSHACI D
THEFSHCE,

AP MAC Spoofing (2 &)

e4 be ed ez
length: 16

Control: 16bf

gd

a ,
gth: 1@

Control: fTaobe Sequence Control: besz
count: 2 55! >1, count: 7

=
=

oe 72

length: 13

S0e70VOIPF9O7
Control:
count:

wwnwn

B
S
s
S

noHHWm
LIRS
fo s
=
@]

I.r: ]

D: e4 be ed ez
length: 1@

Vi on

- : SOB7@VOIP@SSF
ence Control: 353 Seque e Control: c@s53
count: 9

I.r: T
moHHW
FOE:

]

e1 be ed
13 5¢ length: 10
SOpYOVOIPASSF = :
uence Control: a@gs3 ] . e Control: dasz
: 51, count: 5 z 49, count: 16

WWnwnm
vonn

wn M

-
]

5 —+
rot
H
n

[Z1816 AP MAC Spoofing 524 EX|E 2lsf Z
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#include "main.h"
#include "kmeans.h"
~ B o
//BSSIDH*FFHHHAEA RIS IR FHAFKEARA )
O eeeeemmeemeemmeeeemmmeeeemmeeeeermeeeemmeeeeemmeeeeemmeemee .
printf("BSSID: ");
for(int i=0; i<6; i++)
{

printf("%02x ", mgmtFrame->addr3([i]);

}
printf("#n");

P MAC ?E(AP MAC Spoofing) 342 ZiAot mjZlo| SSIDLt YX|St= SI0|EZ|AEQ
%E AP2| SSID7t UEX| 2HQISHC}
SY%t SSIDZt EXHst= B2, WAE mHzlel BSS D2 siE AP2| MAC FAE H|WBHCH
?lo] & &=0| 2F LX[THCHH DIO|EE[AEQN MY E O JUA= APl =X} HZ(Sequence
numben 2t Xt I§ZIQ| =X HZ(Sequencenumber)E H|wSHC},
=X} M3 (Sequence numbenZt =XAHOZ TSt AL IJO|EZAES
=Xt#HZ (Sequence number)E YH|O|E $iC}.
FHOIX| S dR0l= MZM7|(rss)E ZAISHO 2H0|EZ|AEQ UAes Mz AM7[2
Helof Zgtx|=AX| Hluotot,
£ Z420= AP MAC 2IE(AP MAC Spoofing) &Zi0| S8t SCtD THEESt)

r
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>t
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STL:MAP H|Z 2| 22|

=13
=

row[0],NULL,10);

of

rowNum = (int)strtol

—~

convMac(0,row[1]);

bwStruct.channel = (int)strtol(row[2],NULL,10);
bwStruct.blockStat = (int)strtol(row[3],NULL,10);
convMac(1,row[4]);

bwStruct.apAuth = (int)strtol(row[5],NULL,10);
bwStruct.apCipher = (int)strtol(row[6],NULL,10);
bwStruct.apEnc = (int)strtol(row[7],NULL,10);
bwStruct.macType = (int)strtol(row[8],NULL,10);
bwStruct.adHocStat = (uint8_t)strtol(row[9],NULL,10);

sprintf(bwStruct.ssid,"%s",row[10]);

printf("ssid is %sW#n",row[10]);

if(owStruct.macType == 0){
memset(&(bwStruct.stMac[0]),0,6);

HOolH gt &8 718 #1 A= Paird 0|8310] ME, M= MAPRLILH
AF7 7|8 0|8 HZ2l &0 F2lstA ==, DBHOIE X mizls X M2 A
StH di Y HIOIHE SEo dMIt Hustof X&/51E8 St=0 AASEH L

|_O_||-

_16_



3.2 #2|X} 50| X]|

Places +

i&; Dubeolsik Hanja Lock B $ A8 black list 41&4 | Django A{O|E 12| - Mozilla Firefox

#ZE black list 4% | Dj.. * |+
W) 9 | © | 127.0.0.1:8000/admin/wips _black/blackli carct *B & A 9
&osiwsﬁedv PlOffensive Security s Kall Linux S Kali Docs W Kali Tools & Exploit-DB W Aircrack-ng gl Kali Forums ‘s NetHunter “\ Kali Training @ Geiting Started

ps.B B
black [ist
) + A EH
%] d
® 4 Apmac: 180501100386
B BLACK LIST e
F 180501104336 Channel: A -
70255016920
Mac type: ARTYRE <
8 00271cb79f09 -
@ : /
3 black list Apene: weaz |
Apcipher: COMP o
a Ap auth: PSK o
[ Block stai
Ad hoe stat: AD_HOC OFF j

[1317 A& o] =2|X} H{O|X[]

i i SOELIT PACK I
DJangO g {21L{T PACKETHUNTER. 4
AOIE Dh2
WIPS_BLACK PR
Black lists b2t MY
WIPS_HOME X WipsHomeBlocklog object(1)
Wips home blocklogs 2 vy X WipsHomeBlocklog object(2)

% WipsHomeBlocklog ohjeat(3)
WIPS_WHITE e

White lists 23} W WipsHomeBlocklog object(3)
WipsHomeBlocklog object(?)
NERET
UF L A WipsHomeBlocklog object(1)
1= S
= ~ ¥ WipsHomeBlocklog object(5)
AEH(E) b Y

WipsHomeBlocklog object (3)

X WipsHomeBlock}

WipsHomeBlocklog object(2)
[AE17.1 & Oof= Z2|Xt HO|X|]

22| X HO|X| 2 Y&HotH 2ot HO|EH0|A2 gts =25t 8 £+ U= =H

& 9tk

mjo

_‘|7_



base.html

{% load i18n static %}<!DOCTYPE html>

{% get_current_language as LANGUAGE_CODE %}{% get_current_language_bidi as
LANGUAGE_BIDI %)}

<html lang="{{ LANGUAGE_CODE|default:"en-us" }}" {% if LANGUAGE_BIDI
%}dir="rtl"{% endif %}>

<head>

<title>{% block title %}{% endblock %}</title>

<link rel="stylesheet" type="text/css" href="{% block stylesheet %}{% static
"admin/css/base.css" %H% endblock %}">

{% block extrastyle %}% endblock %}

{% if LANGUAGE_BIDI %}<link rel="stylesheet" type="text/css" href="{% block

stylesheet_rtl %}{% static "admin/css/rtl.css" %H% endblock %}">{% endif %}
~ |3t M2} ~

base.css

/*
DJANGO Admin styles
*/
@import url(fonts.css);
body {
margin: 0;
padding: 0;
font-size: 23px;
font-family: "Roboto","Lucida Grande","DejaVu Sans","Bitstream Vera
Sans",Verdana,Arial,sans-serif;
color: #333;
background: #fff,
}1/* LINKS */

~ O[3} M2} ~

_18_



Django jﬂ'a‘ HOYFLICI, PACKETHUNTER. ALOIE 57| / B2t 8 1/ 271018

& Wips_Black  Black lists » 112233445566

black list £

Apmac: 112233445566

aabbzcddeeff

Channel: 2

Mac type: AP_TYPE j

Apenc: wea j

Ap cipher: TKIP j
Ap auth: PSK j

Block stat
Ad hoc stat: AD_HOC OFF :J

[1218 Black list 22| Xt H|O|X| 3}H]
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index.html

{% extends 'base.html' %}

{% load static %}

{% block content %}

<style type="text/css">

h3 {
font-size: 80px;
font-family: "Courier New";
color: white;
background-color: black;
position: absolute;
height: 150px;
width:100%;
z-index: 1;
text-align: center;
margin-bottom: 10px;
padding: 30px;
left: -15px;
top: 1px;

~ O[3} AEf -

Block Logs

musber e stk bype Block_iat

[1222 Block logs #HO|X[]

Block Logs® Ol A= 2| XtH O X0 Al AFEXLS] &F0i| ofsiA CO|EH| O] 20 M E

SHBZHO| Cfe KHEHE SO YEES AW 4 ot
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block_log.html

{% extends 'base.html' %}

{% load static %}

{% block content %}

<style type="text/css">

h3 {
font-size: 80px;
font-family: "Courier New";
color: white;
background-color: black;
position: absolute;
height: 150px;
width:100%;
z-index: 1;
text-align: center;
margin-bottom: 10px;
padding: 30px;
left: -15px;
top: 1px;

23 RN
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- Log Viewer -1
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[12123 Member & If|O[X[]




et

—

.
o

S4A|74OF

font-family: "Courier New";
color: white;
background-color: black;
position: absolute;

height: 150px;
margin-bottom: 10px;

padding: 30px;
left: -15px;

text-align: center;
top: 1px;

font-size: 80px;
width: 100%;

@import url(http://fonts.googleapis.com/earlyaccess/jejuhallasan.css)
z-index: 1;

{% extends 'base.html" %}
{% load static %}

<style type="text/css">

{% block content %}
h3 {
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[aaa.h] <list update with map,userfunc>

#include <stdio.h>

#include <stdlib.h>

#include <pcap.h> /* if this gives you an error try pcap/pcap.h */
#include <errno.h>

#include <sys/socket.h>

#include <netinet/in.h>

#include <arpa/inet.h>

#include <netinet/if_ether.h> /* includes net/ethernet.h */
#include <iostream>

#include <string.h>

//ENC

#define WEP 1

#define WPA1 10

#define WPA2 20

//Cipher

#define OPEN 0

#define GROUP_CIPHER_SUITE 11
#define WEP40 12

#define TKIP 13

#define C_RESERVATON 14//0i| %At
#define CCMP 15

#define WEP104 16

//Auth

#define A_RESERVATON 17//0| 2%ALE
#define A_8021X 18//802.1X

#define PSK 19

using std::cout;
using std:endl;
#pragma pack(push, 1)

struct SecurityFlag

{
int8_t enc;//Encrypt
int8_t groupCipher; //GroupCypher
int8_t pairwiseCipher; //PairwiseCipher
int8_t auth; //Authentication

_24_



struct SecurityMethod

{

%

uint8_t wep:1;//WEP

uint8_t gCSS[4]; //Group Cipher Suite Selector gcss[3] = type; ID=48

uint16_t pCSC; //Pairwise Cipher Suite Count

uint8_t aSC[2]; //AKM Suite Count

uint8_t pCSS[4]; //Pairwise Cipher Suite Selector 4x7tHZO0].. pcss[3] = type ID=48
uint8_t aSS[4]; //AKM Suite Selector 4x7tHZO0|.. akmss[3] = type ID=48

uint8_t oUI[3]; //Organizationally unique identifier ID=221

uint8_t mCSS[4]; //Group Cipher Suite Selector gcss[3] = type; ID=221 //ER2USX?
uint16_t uCSC; //Pairwise Cipher Suite Count

uint8_t uCSS[4]; //unicast Cipher Suite Select OUI 4x7}H#HZ 0| uCSS[3] = type ID=221
uint8_t akKMC[2]; //AKM Suite Count

uint8_t aKMS[4]; //AKM Suite Selector1 4x7t#HZO0].. aSS[3] = type ID=221

uint8_t vST; //Vendor Specific (OUI) Type ZR8IS7??

struct FrameCtrl //Management Frame Control

{
uint8_t  protocolVer D 2;
uint8_t  type D2
uint8_t  subType D4
uint8_ t  toDs 1
uint8_ t  fromDs 1
uint8_t  moreFlag 1
uint8_t  retry 21
uint8_t  powerMgmt 1
uint8_t  moreData 1
uint8_t  protectedFrame : 1;
uint8_t  order 1
%
struct ManagementFrame
{
struct FrameCtrl frameCtrl; //2 bytes
uint16_t  duration;  //2 bytes
uint8_t addr1[6]; //6 bytes
uint8_t addr2[6]; //6 bytes
uint8_t addr3[6]; //6 bytes BSS = AP MAC
uint16_t  seq_ctrl;  //2 bytes

|3

struct RadiotapHeaderFlag

{
uint8_t cfp:1;

uint8_t preamble:1;

uint8_t wep:1;

uint8_t fragmentation:1;

uint8_t fcs:1;

uint8_t data_pad:1;
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uint8_t bad_fcs:1;
uint8_t short_gi:1;
%

struct RadiotapHeader

{
uint8_t version;
uint8_t pad;
uint16_t  length;
uinté4_t  presentFlags;

struct RadiotapHeaderFlag flags;

uint8_t dataRate;
uint16_t  channelFrequency;
uint16_t  channelFlags;
uint8_t ssiSignal_1;
uint8_t wtfTrash;  //strange stuff
uint16_t  rxFlags;
uint8_t ssiSignal_2;
uint8_t antenna;

|3

struct PairwiseCipherSuiteSelector //Pairwise Cipher Suite Selector 4x7t&#HZ 0| <-pCSS[4];
{

uint8_t pOUI[3]; // pOUI[0] == Rsn.pCSS[0], pOUI[1] == Rsn.pCSS[1], pOUI[2] ==
Rsn.pCSS[2]

uint8_t pTYPE; // pTYPE == Rsn.pCSS[3]
by

struct Rsn

{
uint8_t elementld; //Element_ID
uint8_t length; //Length
uint16_t version;
uint8_t gCSS[4]; //Group Cipher Suite Selector gcss[3] = type
uint16_t pCSC; //Pairwise Cipher Suite Count
PairwiseCipherSuiteSelector pCSS;
//uint8_t pCSS[4]; //Pairwise Cipher Suite Selector 4x7FHZO|.. pcss[3] = type
uint8_t aSC[2]; //AKM Suite Count
uint8_t aSS[4]; //AKM Suite Selector 4x7t#Z0|.. aSS[3] = type
uint16_t rsnC; //RSN Capabilities
uint16_t pmkC; //PMK Count
uint16_t pmkL; //PMK List

y

struct VendorSpecific
{
uint8_t elementld; //Element_ID 221
uint8_t length; //Length
uint8_t oUI[3]; //Organizationally unique identifier
uint8_t vST; //Vendor Specific (OUl) Type
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uint16_t wpaVersion; //WPA
uint8_t mCSS[4]; //Multicast Cipher Suite Select OUI mCSS[3] = type
uint16_t uCSC; //unicast Cipher Suite Count
uint8_t uCSS[4]; //unicast Cipher Suite Select OUI 4x7H#Z 0| uCSS[3] = type
uint8_t aSC[2]; //AKM Suite Count
uint8_t aSS[4]; //AKM Suite Selector 4xZ7HHZO].. aSS[3] = type

%

struct OptionField
{

uint8_t elementld; //Element_ID

uint8_t length; //Length

//Rsn rsn;

//Vendor_specific vendor_specific;

//Variable Length Optionflied 7t#HZ0[°] SMEZ L
y

struct BeaconFrameBody

{
uintbé4_t timestamp;
uint16_t beaconinterval;
uint16_t capacitylnformation;

|3

struct AkmSuiteSelector//??
{

//uint16_t aSC; //AKM Suite Count

uint8_t aSS[4]; //AKM Suite Selector 4xZ7HHZO[.. aSS[3] = type
%

#pragma pack(pop)

//void misconfigureAP (const uint8_t *);
//int Cipher(uint8_t *);

//int Auth(uint8_t *);

[bbb.h] <combine userFunc>

#ifndef BBB_H

#define BBB_H
#include <sys/time.h>
#include <netinet/in.h>
#include <pcap/pcap.h>
#include <signal.h>
#include <stdio.h>
#include <stdlib.h>
#include <string.h>
#include <errno.h>
#include <unistd.h>
#include <arpa/inet.h>
#include <stdint.h>
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#pragma pack(push,1)

typedef struct Radiotap_Header

{

u_int8_t Header_Revision;
u_int8_t Header_Pad;
u_int16_t Header_Length;

}Radiotap_Header;

typedef struct FrameControl

{
u_int8_t
u_int8_t
u_int8_t
u_int8_t
u_int8_t
u_int8_t
u_int8_t
u_int8_t
u_int8_t
u_int8_t Wep:1;
u_int8_t Rsvd:1;
} FrameControl;

Type:2;

ToDs:1;

Retry:1;

ProVer:2;

Subtype:4;

FromDs:1;
MoreFlag:1;

PowerMgmt:1;
MoreData:1;

typedef struct Manage

{

FrameControl Frame_control;

u_short Duration;

u_int8_t des[6];
u_int8_t src[6];
u_int8_t BSS[6];

u_short Sequence;

struct Wireless_LAN({
u_int8_t Timestamp[8];
u_short Beacon;
struct Capavility{

u_int8_t
u_int8_t
u_int8_t
u_int8_t
u_int8_t
u_int8_t
u_int8_t
u_int8_t
u_int8_t
u_int8_t
u_int8_t

ESS:1;

IBSS:1;

CFP:2;

Privacy:1;
Short_Preamble:1;
PBCC:1;
Channel_Agility:1;
Spectrum_Agility:1;
Short_Slot:1;
APSD:1;
Raido_measurement:1;
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u_int8_t DSSS_OFDM:T;
u_int8_t DBA:1;
}Capavility;

}Wireless_LAN;
IManage;

#pragma pack(pop)
#endif // BBB_H

[clisocket.cpp] <plus ssid cmp>
#include "clisocket.h"

clisocket::clisocket()
{
/*  clientSocket = socket(PF_INET,SOCKET_STREAM,0);
if(clientSocket == -1){
printf("server socket create fail");
}
serverAdr.sin_family = AF_INET;
serverAdr.sin_port = htons(portNo);
serverAdr.sin_addr.s_addr = htonl(INADDR_ANY);
if(connect(clientSocket,(struct sockaddr *)&clientSocket,sizeof(clientSocket)) == -1){
printf("can't connect#n");
close(clientSocket);
return -1;
}
while(true){
read(clientSocket,recvBuf,1024)
//write

[clisocket.h] <plus ssid cmp>

#ifndef CLISOCKET_H
#define CLISOCKET_H

#include <sys/types.h>
#include <sys/socket.h>
#include <unistd.h>

#include <netinet/in.h>

class clisocket

{

private:
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int clientSocket;

//uint8_t recvBuf([];

char * inetAdr;

char * portNo;

struct sockaddr_in serverAdr;

public:
clisocket();
Y
#endif // CLISOCKET_H
[dbmanage.cpp] <recv string to hex>

#include "dbmanage.h"

dbmanage:dbmanage()

{

mysql_init(&this->mysql);

if('mysql_real_connect(&mysql,DBInfo.dbHost,DBInfo.dbUser,DBInfo.dbPass,DBInfo.dbName,3
306,(char *)NULL, 0))

{
printf("%s¥n",mysql_error(&mysql));
exit(1);
}
printf"dSHC 2 AAE|JEL|Chwn") ;
}
dbmanage::~dbmanage()
{
mysql_close(&mysql);
}

MYSQL_RES* dbmanage:: dbQuery(char * gStr)
{
//qStr = "SHOW TABLES"
if(mysql_query(&mysgl, gStr))
{
printf("%s¥n", mysql_error(8&mysql));
exit(1);
}
this->res = mysql_store_result(&mysql);
return this->res;
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void dbmanage::dbFree(void)
{

mysql_free_result(this->res);

[dbmanage.h] <user func update!>

#include <iostream>
#include <cstdio>
#include <mysql/mysql.h>

#define WHITEAP 1
#define WHITESTATION 2
#define BLACKAP 3
#define BLACKSTATION 4
#pragma once

class dbmanage

{
private:
struct{
char const *dbHost ="localhost";
char const *dbUser ="packethunter";
char const *dbPass ="packethunter";
char const *dbName ="PacketHunter";
}DBInfo;
MYSQL mysql;
MYSQL_RES *res;
public:
dbmanage();
~dbmanage();
MYSQL_RES* dbQuery(char * gStr);
void dbFree(void);
%

[deauth.cpp] <deauth_mutex>
#include "deauth.h”

deauth::deauth()
{

}

void deauth:testFunc11(listload& listMan,dbmanage& wipsDB,std:mutex& mtx_lock1)

{
printf("deauth testFunci#n");
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char tempbuf[250] = {0,};
char chanbuf[250] = {0,};
//std:mutex mtx_lock;

listload::bw_list:iterator it;
printf("CHECK fakeApWnWn");
while(1){
mtx_lock1.lock();
for(it = listMan.BlackList.begin();it !=listMan.BlackList.end();it++){
//printf("view func first %dWn",it->first);
bwDatas = (listload::bwList)it->second;
deauthinfo.channel = bwDatas.channel;
deauthinfo.blockStat = bwDatas.blockStat;
if(deauthinfo.blockStat == 1 ){
memcpy(&(deauthinfo.stMac),&(bwDatas.stMac),6);
memcpy(&(deauthlnfo.apMac),&(bwDatas.apMac),6);
lelse if(deauthinfo.blockStat == 0){
memcpy(&(deauthinfo.apMac),8(bwDatas.apMac),6);
memset(&(deauthlinfo.stMac),0,6);

}

sprintf(chanbuf,"sudo iwconfig wlan3 channel %d",deauthinfo.channel);

int retl = system(chanbuf);

sprintf(tempbuf,"aireplay-ng -0 20 -a %02X:%02X:%02X:%02X:%02X:%02X
wlan3",deauthinfo.apMac[0],deauthinfo.apMac[1],deauthinfo.apMac[2],deauthinfo.apMac[3],d
eauthinfo.apMac[4],deauthinfo.apMac[5]);

int ret2 = system(tempbuf);

//--ignore-negative-one

memset(&(tempbuf[0]),0,250);
memset(&(chanbuf[0]),0,250);
}
mtx_lock1.unlock();
sleep(0.01);

[deauth.h] <deauth_mutex>

#ifndef DEAUTH_H
#define DEAUTH_H

#include <cstdio>
#include <iostream>
#include "listload.h"
#include "dbmanage.h"
#include <stdlib.h>
#include <map>
#include <cstring>

_32_



#include <unistd.h>
#include <mutex>

class deauth
{
public:
int numTest;
listload::bwlList bwDatas;
typedef struct deauthSet{
uint8_t apMacl[6];
int channel;
int blockStat;
uint8_t stMacl6];
}deauthSet;
deauthSet deauthlinfo;
deauth();
void testFunc1i(listload& listMan,dbmanage& wipsDB,std::mutex& mtx_lock1);
%

#endif // DEAUTH_H

[listload.cpp] <check error>

#include "listload.h"
#include <typeinfo>
#include <cstring>

listload::listload()

{

//make map for dev list
//accessList
//getDevlList();
//blackList

//whitelist

}

//basically macField = 0
int listload:: initlist(MYSQL_RES* IRes,int IFlag)

{

bwStruct={0};

int f{Cnt = mysqgl_num_fields(IRes);
int rowNum = 0;

while((row = mysql_fetch_row(IRes)))

{
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rowNum = (int)strtol(row[0],NULL,10);

// debug printf("num check1 is %d¥n",rowNum);
convMac(0,row[1]);

bwStruct.channel = (int)strtol(row[2],NULL,10);
bwStruct.blockStat = (int)strtol(row[3],NULL,10);
convMac(1,row[4]);

bwStruct.apAuth = (int)strtol(row[5],NULL,10);
bwStruct.apCipher = (int)strtol(row[6],NULL,10);
bwStruct.apEnc = (int)strtol(row[7],NULL,10);
bwStruct.macType = (int)strtol(row[8],NULL,10);
bwStruct.adHocStat = (uint8_t)strtol(row[9],NULL,10);
//memcpy(&(bwStruct.ssid[0]),&row([10],32);

// debug printf("st test %02x %02x %02x %02x %02x

%02x¥#n", bwStruct.apMac[0],bwStruct.apMac[1],bwStruct.apMac[2],bwStruct.apMac(3],bwStruc

t.apMac[4],bwStruct.apMac[5]);
// debug printf("#n");
/!
sprintf(bwStruct.ssid,"%s",row[10]);
//printf("ssid is %sWn",row[10]);
if(lowStruct.macType == 0){
memset(&(bwStruct.stMac[0]),0,6);

}

if(IFlag == 10){
BlackList.insert(std::make_pair(rowNum,bwStruct));

telse if(IFlag == 11){
WhitelList.insert(std::make_pair(rowNum,bwStruct));

}

}
blkCnt = rowNum;

/* debug code

bw_list:iterator it;

for(it = BlackList.begin();it !=BlackList.end();it++){
printf("first %dWn",it->first);
if((it->first) == 5){

printf("struct %02hWn" (listload::bwList)it->second);

}

¥/

printf("list enroll DB to MAPMNWnN");

return O;

}

int listload:: initwht(MYSQL_RES* IRes)
{

bwStruct={0};

int f{Cnt = mysqgl_num_fields(IRes);
int rowNum = 0;

while((row = mysql_fetch_row(IRes)))
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rowNum = (int)strtol(row[0],NULL,10);

// debug printf("num checkl is %d¥#n",rowNum);
convMac(0,row[1]);

bwStruct.channel = (int)strtol(row[2],NULL,10);
bwStruct.blockStat = (int)strtol(row[3],NULL,10);
convMac(1,row[4]);

bwStruct.apAuth = (int)strtol(row[5],NULL,10);
bwStruct.apCipher = (int)strtol(row[6],NULL,10);
bwStruct.apEnc = (int)strtol(row[7],NULL,10);
bwStruct.macType = (int)strtol(row[8],NULL,10);
bwStruct.adHocStat = (uint8_t)strtol(row[9],NULL,10);
// debug printf("st test %02x %02x %02x %02x %02x

%02x¥#n", bwStruct.apMac[0],bwStruct.apMac[1],bwStruct.apMac[2],bwStruct.apMac(3],bwStruc
t.apMac[4],bwStruct.apMac[5]);

}

// debug printf("#n");

BlackList.insert(std::make_pair(rowNum,bwStruct));

}

bw_list:iterator it;

for(it = BlackList.begin();it !=BlackList.end();it++){
printf("first %d¥#n",it->first);

}
//printf("thie end¥nWn");
return 0;

void listload:: convMac(int macFlag,std::string recvMac){

//std:vector<char> cMac(recvMac.c_str(), recvMac.c_str() + recvMac.size() + 1);
//char cMac[12] = (char)recvMac[];
//printf("%sWn",cMac);
//char const *test1 = recvMac.c_str();
//char* test1;
//std:strcpy(test1, recvMac.c_str());
//char hexbyte[3] = {0,};
//int octets[sizeof(recvMac) / 2];
int arrCnt = 0;
if(recvMac.length() == 12)
{
if(macFlag == 0)//apMac
{
for(int ex = 0;ex<12;ex+=2 ){
std:string tempstr = recvMac.substr(ex,2);
uint8_t num1 = (uint8_t)strtol(tempstr.c_str(), NULL,16);
arrCnt = ex/2;
bwStruct.apMac[arrCnt] = numT;
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//printf("ok %02xWn",bwStruct.apMac[arrCnt]);
!

//char *te1l = "90";

// printf("test %dWn",bwStruct.apMac[0]);

//int test3 = std:atoi("");

//printf("test2sdf %02x¥n¥n",num1);

Jelse if(macFlag == 1)//stationMac
{
for(int ex = 0;ex<12;ex+=2 ){

std:string tempstr = recvMac.substr(ex,2);
uint8_t num1 = (uint8_t)strtol(tempstr.c_str(), NULL,16);
arrCnt = ex/2;
bwStruct.stMac[arrCnt] = num1;
//printf("ok %02x¥n" bwStruct.stMac[arrCnt]);

}

}
}//else{//not 12 length mac then

//uint8_t num1 = (uint8_t)strtol(recvMac.c_str(),NULL,16);
//}

}

void listload:: getPktInfo(uint8_t* pktData){
//uint8_t* rth_data = pktData+RTHLENGTH;
uint8_t* rssAdr = pktData+RTHLENGTH;
uint8_t* channelAdr = pktData+RTHLENGTH;

rthFrame = (packframes:rth *)pktData;
int d_form=4;
int padding=0;
//D printf("#nchannel cur adr = %p¥#n",channelAdr);
for(int temp=0;temp<29;temp++){
if(rthFrame->rth_present_flg.pflg1[temp]== false){
continue;
}
else if(rthFrame->rth_present_flg.pflg1[temp]==true){
while((d_form % PFrame.pflg_allign[temp])!=0){

d_form+=1;
padding+=1;

}

if(temp<3){
//D printf("¥nchan_tmp = %d, pading = %d

size=%d¥n" temp,padding,PFrame.pflg_size[temp]);

channelAdr=channelAdr+padding+PFrame.pflg_size[temp];
//D printf("#fnchannel cur adr = %p#n",channelAdr);
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d_form= d_form+PFrame.pflg_size[temp];
padding=0;
continue;

}

rssAdr += (d_form-4);

infoForm.channel = ntohs((uint16_t)*channelAdr);
infoForm.rss = (char)*rssAdr;

//D printf("Wn¥WnWn rth_data = %p Wn rthdata is %02x¥#n",channelAdr,channelAdr[0]);
//D printf("#ncur rss_position = %pWn data is %02x
%02xWn",rssAdr,rssAdr[0],rssAdr[1]);

//printf("#Wnsize of struct = %dWn",sizeof();

//while(pflg_index){
//for(int temp;temp<4;temp++){
//&cmp_v
//}
//printf("#ntt#n");

//}

/* uint8_t test1 = (rthFrame->rth_present_flg.pflg1.TSFT);

uint8_t test2 = (rthFrame->rth_present_flg.pflg1.Flags);

uint8_t test3 = (rthFrame->rth_present_flg.pflg1.Rate);

uint8_t test4 = (rthFrame->rth_present_flg.pflg1.Channel);

uint8_t test5 = (rthFrame->rth_present_flg.pflg1.dbm_antenna_signal);

uint8_t test6 = (rthFrame->rth_present_flg.pflg1.RX_flags);

uint8_t test7 = (rthFrame->rth_present_flg.pflg1.radiotap_NS_next);

uint8_t test8 = (rthFrame->rth_present_flg.pflg1.Ext);

uint8_t test9 = (rthFrame->rth_present_flg.pflg2.dbm_antenna_signal);

printf("Wntest pflgl = %02x Wn fhss = %02x %02x %02x %02x %02x %02x %02x
%02x #n" test1,test2,test3, test4,tests,test6,test7,test8, test9);

*/

//enum packframes::RTH_pflg presentFlag;

/=

/*while(presentFlag !'= 31){
if(rthFrame->rth_present_flg.pflg1[presentFlag]|rthFrame->rth_present_flg.pflg2)
switch(presentFlag)

{
case(packframes::RTH_TSFT):
printf("1");
continue;
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default:
printf("end");
}

Y/

/~k

presentFlag = packframes:RTH_TSFT;
printf("#n enum data = %dWn" presentFlag);
presentFlag = packframes:RTH_FLAGS;
printf("#n enum data2 = %d¥n" presentFlag);
*/

//while()

//switch
// rthFrame->rth_length

//switch()

}
listload::bw_list& listload::rtnBlkMap(){

return this->BlackList;

[listload.h] <check error>

#pragma once

#include <stdio.h>
#include <iostream>
#include <list>
#include <vector>
#include <map>
#include <pcap/pcap.h>
#include <mysql/mysql.h>
#include "dbmanage.h"
#include "mac.h"
#include "packframes.h"
#include <arpa/inet.h>
#include <string>
#include <cstring>
#include <stdlib.h>

#define WHITEAP 1
#define WHITESTATION 2
#define BLACKAP 3
#define BLACKSTATION 4

#define RTHLENGTH 12
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class listload

{

public:

uint8_t cmp_v = 1;
MYSQL_ROW row;
mac tempMac;

—————————————————————————— get pkt info(rth+mac)

//packframes pktForm;
packframes PFrame;
packframes:rth* rthFrame;
#pragma pack(push,1)
typedef struct recv_info{
mac apMag;
char rss;
uint16_t channel;
mac stationMac;
}info;
info infoForm;

int blkCnt = O;

typedef struct blk_wht_list{
uint8_t apMacl[6];
int channel;
int blockStat;
uint8_t stMacl6];
int apAuth;
int apCipher;
int apEnc;
int macType;
uint8_t adHocStat;
char ssid[32];

}owList;

bwList bwStruct;

#pragma pack(pop)

typedef std:map<int,bwList>bw_list;

bw_list BlackList;

bw_list WhiteList;

//typedef std:map<intbwlist>:iterator blk_list_iter;
//blk_list_iter Blacklter;

typedef std:map <int,info>pkt_info;

typedef std:map<intinfo>:iterator pkt_info_iter;
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//MYSQL_RES *listRes;
/* typedef std:map<int,std:string> wApMap;
wApMap CipwAp;//int,string

typedef std:map<intstd:string>:iterator wAplter;
typedef std:map<intstd:string> wStMap;
wStMap CipwSp;//int,string

typedef std:map<intstd:string>:iterator wStlter;
typedef std:map<int,std:string> bStMap;
bStMap CipbAp;//int,string

typedef std:map<int,std:string>:iterator bAPlter;

*/
listload();
void convMac(int macFlag,std:string recvMac);
int initlist(MYSQL_RES* IRes,int IFlag);
int initwht(MYSQL_RES* IRes);
void getPktinfo(uint8_t* pktData);
bw_list& rtnBlkMap();
%

[mac.cpp] <recv string to hex>
#include "mac.h”

mac::mac()

[mac.h] <protect my data>

#ifndef MAC_H
#define MAC_H
#include <cstdint>
#include <string>
#include <cstdlib>
#include <iostream>
#include <cstring>

#include <map>
#include <tuple>
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class mac
{
public:
mac();
uint8_t macAddr[6];
mac& operator =(char *strAddr)
{
std::string baseMac = "000000000000";
baseMac.replace(12-(std:strlen(strAddr)),std::strlen(strAddr),strAddr);
std:string te2;
//printf("macLen = %d¥n" strlen(strAddr));

for(int cnt = 5;cnt>-1;cnt--)

{
// std:cout<<"string="<<baseMac< <#n’;
int num=cnt*2;
te2 = baseMac.substr(num,2);
//std:cout< <"te2="<<te2<<'#n";
macAddr[cnt] = (uint8_t)(std::stoi(te2,0,16));
printf("%dWn",macAddr[cnt]);

}
//it()

return *this;

}

bool operator<(const mac sMac)  const{

return

std::tie(macAddr[0],macAddr[1],macAddr[2],macAddr[3],macAddr[4],macAddr[5]) <std::tie(sMac
.macAddr[0],sMac.macAddr[1],sMac.macAddr[2],sMac.macAddr[3],sMac.macAddr[4],sMac.mac
Addr[5]);

}

%

#endif // MAC_H

[main.cpp] <deauth_mutex>

#include <iostream>
#include "listload.h"
#include "dbmanage.h"
#include "pktpassway.h"
#include "deauth.h"
#include <thread>
using namespace std;

#define BLACKLISTFLAG 10
#define WHITELISTFLAG 11
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int main(int argc, char *argv[])
{
char a = Oxba;
dbmanage wipsDB;
listload listMan;
pktPassWay test;
std:mutex mtx_lock;
deauth dd;
printf("BLACKLIST ENROLL¥nN");

int stat = listMan.initlist(wipsDB.dbQuery("SELECT * FROM
wips_black_blacklist"),BLACKLISTFLAG);

printf("WHITELIST ENROLLWnN");

int statl = listMan.initlist(wipsDB.dbQuery("SELECT * FROM
wips_white_whitelist"), WHITELISTFLAG);

//thread t1{&pktPassWay::main,&test,listMan,wipsDB};

thread t1([&](){test.main(listMan,wipsDB,mtx_lock);});

thread t2([&](){dd.testFunc11(listMan,wipsDB,mtx_lock);});

//t1join();

t2join();

return O;

[packframes.h] <input db okay>

#ifndef PACKFRAMES_H
#define PACKFRAMES_H
#include "cstdint"
#include <bitset>

class packframes
{
public:
#pragma pack(push,1)
/*
typedef struct radiotap_hdr_present_flag_word{
uint8_t TSFT 1
uint8_t Flags 1
uint8_t Rate : 1
uint8_t Channel 1
uint8_t FHSS 1

1

uint8_t dbm_antenna_signal
uint8_t dbm_antenna_noise
uint8_t Lock_quality
uint8_t TX_ attenuation
uint8_t db_TX_ attenuation
uint8_t dbm_TX_power
uint8_t Antenna

21
c 1

1
1

]

1

o1
21
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uint8_t db_Antenna_signal : 1;
uint8_t db_Antenna_noise 1
uint8_t RX_flags 1
uint8_t non_data 0 3;
uint8_t Channel_plus :1;
uint8_t mcs_information : 1
uint8_t a_mpdu_status o1
uint8_t none_datal 1;
uint8_t none_data?2 1;
uint8_t reserved1 :6;
uint8_t radiotap_NS_next :1;
uint8_t vendor_NS_next :1;
uint8_t Ext 1
}pflg_word;*/
[ radiotap header setting
enum RTH_pflg {

RTH_TSFT = 0,
RTH_FLAGS = 1,
RTH_RATE = 2,
RTH_CHANNEL = 3,
RTH_FHSS = 4,
RTH_DBM_ANTSIGNAL = 5,
RTH_DBM_ANTNOISE = 6,
RTH_LOCK_QUALITY = 7,
RTH_TX_ATTENUATION = 8,
RTH_DB_TX_ATTENUATION = 9,
RTH_DBM_TX_POWER = 10,
RTH_ANTENNA = 11,
RTH_DB_ANTSIGNAL = 12,
RTH_DB_ANTNOISE = 13,
RTH_RX_FLAGS = 14,
RTH_TX_FLAGS = 15,
RTH_RTS_RETRIES = 16,
RTH_DATA_RETRIES = 17,
RTH_XChannel = 18,

RTH_MCS = 19,
RTH_AMPDU_STATUS = 20,
RTH_VHT = 21,

RTH_TIMESTAMP = 22,
RTH_RADIOTAP_NAMESPACE = 29,
RTH_VENDOR_NAMESPACE = 30,
RTH_EXT = 31

2

/*flag_to_size_rth
{

TSFT 0 size= 8 allign=8
flags 1 size= 1 allign=1;
rate 2 size= 1 allign=1
channel 3 size= 4 allign=2
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fhss 4 size= 2 allign=7772(2?)

antena signal 5 size= 1 allign=1;dbm
antena noise 6 size= 1 allign=1;
lock quality 7 size= 2 allign=2
tx attenuation 8 size= 2 allign=2
db_tx_attenuation 9 size= 2 allign=2
dbm_tx_power 10  size= 1 allign=1
antena 11 size= 1 allign=1
db_antena_signal 12 size= 1 allign=1
db_antena_noise 13 size= 1 allign=1
rx_flags 14 size= 2 allign=2

15

16

17

18
mcs 19  size= 3 allign=1
mpdu 20 size= 6 allign=4
vht 21 size=12 allign=2
timestamp 22 size=12 allign=8

vendor_namespace 30 size=6 allign=2
//uint8_t radiotap_ns_next;*
//uint8_t Vendor_NS_next ;
//uint8_t ext;*
// is need but don't need size?
irth_flag_size;*/
int pflg_size[32]={8,1,1,4,2,1,1,2,2,2,1,1,1,1,2,0,0,0,0,3,6,12,12,0,0,0,0,0,0,0,6,0};

// 4 8 12 16 20 24
28 32
int pflg_allign[32]={12,1,1,2,2,1,1,2,2,2,1,1,1,1,2,0,0,0,0,1,4,2,8,0,0,0,0,0,0,0,2,0};
/! 4 8 12 16 20 24
28 32

typedef struct radiotap_hdr_present_flags{
std:bitset<32> pflg1;
std:bitset<32> pflg2;

tpflgs;

typedef struct radiotap_80211_hdr{
uint8_t rth_version;
uint8_t rth_pad;
uint16_t rth_length;
pflgs rth_present_flg;

/] abstract datas(rth)
typedef struct radiotap_80211_hdr_data{
uint8_t* rss;
uint16_t* channel;

}rth_data;

//void
//struct management frame
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typedef struct FrameCtrl

{
uint8_t  protocolVer D2
uint8_t  type D2
uint8_t  subType D4
uint8_ t  toDs o1
uint8_ t  fromDs 1
uint8_t  moreFlag 21
uint8_t  retry 1
uint8_t  powerMgmt o1
uint8_t moreData o1
uint8_t  protectedFrame : 1;
uint8_t  order 1

G

struct ManagementFrame

{
FC frameCtrl; //2 bytes
uint16_t  duration;  //2 bytes
uint8_t addr1[6]; //6 bytes
uint8_t addr2[6]; //6 bytes
uint8_t addr3[6]; //6 bytes
uint16_t  seq_ctrl;  //2 bytes
%
struct BeaconFrameBody
{
uinté4_t timestamp;
uint16_t beaconlinterval;
uint16_t capacitylnformation;
y
struct TagBody
{
uint8_t  elementlD;
uint8_t  taglength;
%
struct WifiName
{
uint8_t ssid[32];
%

//void fakeAp(const uint8_t *);

#pragma pack(pop)
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packframes();
//void get_fucking_addr();
%

#endif // PACKFRAMES_H

[pktpassway.cpp] <deauth_mutex>

#include "pktpassway.h"
#define BLACKLISTFLAG 10
#define WHITELISTFLAG 11

using namespace std;

//char pktpassway::*correct_dev(int argu_count,char *argu_vector);

int pktPassWay:main(listload& listMan,dbmanage& wipsDB,std::mutex& mtx_lock)
{

//database connect

//dbmanage wipsDB;

//listload listMan;

//query(dbMacField,query)

//printf("BLACKLIST ENROLL#nN");

//int stat = listMan.initlist(wipsDB.dbQuery("SELECT * FROM
wips_black_blacklist"),BLACKLISTFLAG);

//printf("WHITELIST ENROLL¥nN");

//int stat1 = listMan.initlist(wipsDB.dbQuery("SELECT * FROM
wips_white_whitelist"), WHITELISTFLAG);

//initTbl send wipsdb. query table

// debug printf("thusWn");

//devCheck
//char* dev = correct_dev(argc,argv[1]);
char *dev = "wlan1";
char errbuf[PCAP_ERRBUF_SIZE];
pcap_t * pktDescrpt = pcap_open_live(dev, BUFSIZ, PROMISCUQUS, 0, errbuf);
if(pktDescrpt == NULL) {
printf("%s#n",errbuf);
exit(1);
}

//pkt recv

int loopStat;

struct pcap_pkthdr *pktHdr;
const u_char *pktData;
printf("packets waiting...Wn");
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//for(int i = 0;i<100000;i++){
//  printf("pkt cap test %d¥n",i);

/1'}

while(true)

{

loopStat = pcap_next_ex(pktDescrpt, &pktHdr, &pktData);
//(void)pktHdr;//useless
//pcap_stats(packeDescrpt,&stat);//useless

switch(loopStat)
{

case 1:

{
pktFilter((uint8_t*)pktData,listMan, wipsDB,mtx_lock);

break;

case O:
continue;//timeout check

case -1:
pcap_perror(pktDescrpt,"Packet data read error");
exit(1);

case -2
pcap_perror(pktDescrpt,"Packet data read error");
exit(1);

}

}
printf("end whileWn");

return O;

}

char* pktPassWay::correct_dev(int argCnt,char *argVector)
{
if (argCnt 1= 2){
printf("use this form to use programWnProgramName DeviceNamen");
printf("available dev Lists#n");
devsearch t7;
t1.GetDevList();

exit(1);
}

printf("Device : %st#n", argVector);
return argVector;

void pktPassWay::pktFilter(uint8_t *pktData,listload& listMan1,dbmanage&
wipsDB1,std:mutex& mtx_lock1)
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int debugCnt = 0;
//uint8_t*
usrfunc usrFunc(pktData);

//printf("

CAPTURE

memset(&(usrFunc.exPkt),0,sizeof(usrFunc.exPkt));
//usrFunc.test_viewFunc(listMan1);

//make reference

//printf("")

switch(usrFunc.frameCtrl->type){
case(0){
//D memlList.getPktInfo(pktData);

CAPTURE

switch(usrFunc.frameCtrl->subType){

case(8):

{

mtx_lock1.lock();

usrFunc.getCurPktData(listMan1);

if(lusrFunc.doFlag == true){
break;

printf(":::::::::::::::::::::::::::PACKET

int aa;
usrFunc.macCmp(listMan1);
usrFunc.adhocFunc(listMan1);

usrFunc.fakeAp(listMan1);
aa = usrFunc.misconfigureAP(listMan1);
//usrFunc.test_viewFunc(listMan1);

//printf("misconf#n");

//memlList.getPktInfo(pktData);

if(lusrFunc.storflag == true){
usrFunc.inputCurPkt(listMan1,wipsDB1);
usrFunc.storFlag = false;
memset(usrFunc.atkType,0,sizeof(usrFunc.atkType));

}
debugCnt+=1;
if(debugCnt == 10)
system("PAUSE");
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mtx_lock1.unlock();

break;
}

case(10){
//D memlList.getPktInfo(pktData);
break;

!

default:
break;

}

break;

}

case(1):

//type is 1
printf("#n");
break;

case(2):
printf("#n");
break;

case(3):
printf("#n");
break;

[pktpassway.h] <deauth_mutex>

#pragma once

#include <iostream>
//#include <ctypes>
//#include "pktpassway.h"
#include "listload.h"
#include "dbmanage.h"
#include "devsearch.h"
#include "packframes.h"
#include "usrfunc.h"
#include <mutex>

#define PROMISCUOUS 1
#define NONPROMISCUOUS 0

class pktPassWay
{
//char *correct_dev(int argu_count,char *argu_vector);
private:
public:
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//std:mutex mtx_lock;

int main(listload& listMan,dbmanage& wipsDB,std::mutex& mtx_lock);

char *correct_dev(int argCnt,char *argVector);

void pktFilter(uint8_t *pktData,listioad& listMan1,dbmanage& wipsDB1,std:mutex&
mtx_lock1);

listload memlList;

[usrfunc.cpp] <deauth_mutex>
#include "usrfunc.h"

usrfunc:usrfunc(uint8_t *packet)
{
this->pktPoint = packet;
this->RTHeader = (packframes:rth*)((uint8_t*)packet);
this->frameCtrl = (packframes::FC*)((uint8_t*)(packet+RTHeader->rth_length));
this->mgmtFrame =
(packframes::ManagementFrame*)((uint8_t*)(packet+RTHeader->rth_length));
memset(this->APMac,0,6);
memset(this->cliMac,0,6);
//when mgmt then set ap,cli
//need set um....

}
void usrfunc:fakeAp(listload& listMan2)
{
WHTFlag = false; //true in whitelisted packet
BLKFlag = false; //true in blacklisted packet
uint8_t* pktPoint2 = this->pktPoint;
struct packframes:WifiName *wifiName;
//BSS| D* ik kkkkkkk ki Kk kKRR ARKKK AR FRKAh AKX Kk kkkkhkhxk Ak Kkkkkkkkkkkkkkkkk [ [
printf("BSSID: ");
for(int i=0; i<6; i++)
{
printf("%02x ", mgmtFrame->addr3][i]);
}
printf("#n");
//SS|D**rkkkkikkiokk s Kok kkkhh kKRR AR I &K Ak A Kk kk kA kkk Kkkkkkkdkkkkkkokk |/

pktPoint2 += (RTHeader->rth_length + sizeof(struct
packframes::ManagementFrame) + sizeof(struct packframes::BeaconFrameBody) +
sizeof(struct packframes:TagBody));

wifiName = (struct packframes:WifiName *)pktPoint2;

uint8_t* lengthPnt = ((uint8_t*)pktPoint2) - 1;

printf("cur leng is %d¥n",*lengthPnt);

if(*pktPoint2 == 0){

memset(8&(exPkt.ssid),0,32);
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return;
}
[*printf("SSID:  ");
for(int i=0; i<32; i++)

{
if(pktPoint2[i] == 1)
break;
printf("%c", wifiName->ssid[i]);
}

printf("Wnwn"),*/

int cmpFlag = O;

int macCmpFlag = 0;
//uint8_t cmpArray[6];
listload::bw_list:iterator it;

//wht list!

printf("CHECK fakeApWnt#n");

for(it = listMan2.WhiteList.begin();it !=listMan2.WhiteList.end();it++){
//printf("view func first %dWn",it->first);
bwDatas = (listload::bwList)it->second;
macCmpFlag = memcmp(&(bwDatas.apMac),&(mgmtFrame->addr3),6);
if(macCmpFlag == 0){

printf("cmp ssid %sWn" bwDatas.ssid);

cmpFlag = memcmp(&(bwDatas.ssid), & (wifiName->ssid),*lengthPnt);
ifcmpFlag == 0){

printf("LISTED SSID!(WHITE)#n");

WHTFlag = true;

break;

//alreay have white list OK.

}

cmpFlag = 0;

macCmpFlag = 0;

if(WHTFlag == false){
printf("NOT LISTED SSID(WHITE) #n");
cmpFlag = 0;
//uint8_t cmpArray[6];
listload::bw_list:iterator it1;

//blk list!
for(it1 = listMan2.BlackList.begin();it1 !=listMan2.BlackList.end();it1++){
//printf("view func first %d¥n"it->first);
bwDatas = (listload::bwList)it1->second;
//printf("cmp with %02x %02x %02x %02x %02x
%02xWn",bwDatas.apMac[0],bwDatas.apMac[1],bwDatas.apMac[2],bwDatas.apMac[3], bwDatas.

_5"_



apMac[4],bwDatas.apMac[5]);
//printf("check blk SSIDWn");
macCmpFlag = memcmp(&(bwDatas.apMac),&(mgmtFrame->addr3),6);
if(macCmpFlag == 0){
printf("cmp ssid %s#Wn",bwDatas.ssid);

cmpFlag = memcmp(&(bwDatas.ssid), & (wifiName->ssid),*lengthPnt);
if(cmpFlag == 0){

printf("LISTED SSID(BLACK)¥n");

BLKFlag = true;

break;

//alreay have black list OK.

}

memset(&(exPkt.ssid),0,32);
memcpy(&(exPkt.ssid),&(wifiName->ssid),*lengthPnt);
printf("exPkt ssid %s¥#n",exPkt.ssid);

if(WHTFlag == false && BLKFlag == false){
printf("NOT LISTED SSID(BLACK) Wn");
printf("#ndisordered!(FAKE AP)¥fnWn");
storFlag = true;
char tempbuf[250] = {0};

sprintf(tempbuf,"%s FAKEAP",atkType);
sprintf(atkType,"%s" tempbuf);
//start function(structure write and throw map,db)

int usrfunc:Cipher(uint8_t cipher)
{
switch (cipher)//Group Cipher Suite(broad,multicast) Type
{

case O:
printf("Group Cipher Suite AF2#n");
cipher = GROUP_CIPHER_SUITE; //Group Cipher Suite flsg:21
break;
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}

return(cipher);

case 1:
printf("WEP-40 AtEWn");
cipher = WEP40; //WEP-40 flag:12
break;

case 2:
printf("TKIP At-&¥n");
cipher = TKIP; //TKIP flag:13
break;

case 3:
printf("C2F AF8Wn");
cipher = C_RESERVATON; //0|<F flag:14
break;

case 4.
printf("CCMP ARE#n");
cipher = CCMP; //CCMP flag:15
break;

case 5:
printf("WEP-104 AM-Wn");
cipher = WEP104; //WEP-104 flag:16
break;

printf("Cipher fun:%d#n", cipher);

}

int usrfunc::Auth(uint8_t auth)

{

switch (auth)

printf("Ci|2F AFEWn");
auth = A_RESERVATON;//f|agI17

printf("802.1X 21ZWn");
auth = A_8021X;//flag:18

printf("PSK 215#n");
auth = PSK;//flag:19
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printf("..Wn");
break;
}

return(auth);

int usrfunc:misconfigureAP(listload& listMan2)

{

WHTFlag = false; //true in whitelisted packet
BLKFlag = false; //true in blacklisted packet
uint8_t *data = this->pktPoint;

struct RadiotapHeader *rH;//

struct RadiotapHeaderFlag *rF;//

struct ManagementFrame *mfF;//

struct FrameCtrl *fC;//

struct OptionField *oF;//

struct Rsn *rsn;//

struct VendorSpecific *vS;//

struct SecurityMethod sM;

struct SecurityFlag sF;

struct SecurityFlag listSF;

//struct AkmSuiteSelector *aS;

// struct PairwiseCipherSuiteSelector *pS;

rH = (struct RadiotapHeader *)data;

rF = (struct RadiotapHeaderFlag *)data;

mF = (struct ManagementFrame *)(data + rH->length);

fC = (struct FrameCtrl *)(data + rH->length);

oF = (struct OptionField *)(data + rH->length + sizeof(struct ManagementFrame) +
sizeof(struct BeaconFrameBody));

rsn = (struct Rsn *)data;

vS = (struct VendorSpecific *)data;

printf("AP RULE CHECKWnWn");

uint8_t apMacl[6]; //BSS = AP MAC
//printf("ok¥#nWn");

sM.wep = fC->protectedFrame;
//int16_t tpcss;

/H|Z OtEME 48, 221U ER? 2212 HAS|US
O3 HZLM ap mac &OMHZ[H ap mac & I
Y HEZYMZ Sy

apMac[0] = mF->addr3[0];

f2le U4E s LeX|
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apMac[1] = mF->addr3[1];
apMac[2] = mF->addr3[2];
apMac[3] = mF->addr3][3];
apMac[4] = mF->addr3[4];
apMac[5] = mF->addr3][5];

printf("AP MAC:
%02x:%02x:%02x:%02x:%02x:%02x#n" , apMac[0],apMac[1],apMac[2],apMac[3],apMac[4],apMa
c[5]);

if(fC->subType == 8 && fC->type == 0)//BeaconFrame

{
apMac[0] = mF->addr3[0];
apMac[1] = mF->addr3[1];
apMac[2] = mF->addr3[2];
apMac[3] = mF->addr3[3];
apMac[4] = mF->addr3[4];
apMac[5] = mF->addr3[5];

while((oF->elementld | oF->length )!= 0)//OptionFrame
{

if(oF->elementld == 48)//RSN 1D:48

{

rsn = (Rsn *)(uint8_t*)oF;

sM.gCSS[0] = rsn->gCSS[0];//00-0f-ac
sM.gCSS[1] = rsn->gCSS[1];
sM.gCSS[2] = rsn->gCSS[2];
sM.gCSS[3] = rsn->gCSS|[3];//Type

switch (rsn->pCSQ)

{

case 1:
SM.pCSS[3] = rsn->pCSS.pOUI[3];
sM.aSS[3] = rsn->aSS[3];
sM.aSC[0] = rsn->aSC[O0];
sM.aSC[1] = rsn->aSC[1];
break;

case 2:

sM.pCSS[3] = rsn->pCSS.pOUI[7];
sM.aSS[3] = rsn->aSS[7];

sM.aSC[0] = rsn->aSC[2];
sM.aSC[1] = rsn->aSC[3];
break;
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case 3:
sM.pCSS[3] = rsn->pCSS.pOUI[11];
sM.aSS[3] = rsn->aSS[7];

sM.aSC[0] = rsn->aSC[4];
sM.aSC[1] = rsn->aSC[5];
break;

case 4.

SM.pCSS[3] = rsn->pCSS.pOUI[15];
sM.aSS[3] = rsn->aSS[15];

sM.aSC[0] = rsn->aSC[6];
sM.aSC[1] = rsn->aSC[7];
break;

default:
printf("not found/#n");
break;

if(sM.aSC[0] != 0x01)
{

switch (sM.aSC[0])
{

case 2:
printf("AKM OUI : %02x-%02x-%02xWn", rsn->aSS[4],
rsn->aSS[5], rsn->aSS[6]);//AKM OUIl |ID=48 -> WPA-2
printf("AKM TYPE : %02x¥n",rsn->aSS[71);//AKM TYPE
ID=48 -> WPA-2
sM.aSS[3] = rsn->aSS[7];
break;

case 3:
printf("AKM OUI : %02x-%02x-%02x%n", rsn->aSS[8],
rsn->aSS[9], rsn->aSS[10]);//AKM OUI ID=48 -> WPA-2
printf("AKM TYPE : %02xWn",rsn->aSS[11]);//AKM TYPE
ID=48 -> WPA-2
sM.aSS[3] = rsn->aSS[11];
break;

case 4.

printf("AKM OUI : %02x-%02x-%02x#n", rsn->aSS[12],
rsn->aSS[13], rsn->aSS[14]);//AKM OUl ID=48 -> WPA-2

printf("AKM TYPE : %02x#n",rsn->aSS[15]);//AKM TYPE
ID=48 -> WPA-2

sM.aSS[3] = rsn->aSS[15];
break;
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default:

//printf("not found/#n");

break;
}
sM.aSS[0] = rsn->aSS[0];//00-0f-ac
sM.aSS[1] = rsn->aSS[1];
sM.aSS[2] = rsn->aSS[2];

}

else if(oF->elementld == 221)//Vendor specific 1D:221

{

vS = (VendorSpecific *)(uint8_t*)oF;

if(vS->0UI[0] == 0x00 && vS->o0UI[1] == 0x50 && vS->o0Ul[2]

== 0xf2)//0OUl 00-50-f2

{

if(vS->vST == 0x01)//1: WPA Information Type-> WPA-1 &

2: WMM/WME -> CCMP &If 2¢1.?

{

sM.oUI[0] = vS->0UI[0];//00-50-f2

sM.oUI[1] = vS->oUI[1];

sM.oUI[2] = vS->o0UlI[2];

sM.mCSS[3] = vS->mCSS[3]; //Type =1 WPA Information

switch (vS->uCSCQ)
{
case 1:
printf("Unicast Cipher Suite OUI: %02x-%02x-%02x#n",

vS->uCSS[0], vS->uCSS[1], vS->uCSS[2]);//Unicast Cipher Suite OUI ID:221

printf("Unicast Cipher Suite TYPE: %02x#n",

vS->uCSS[3]);//Unicast Cipher Suite TYPE 1D:221

sM.uCSS[3] = vS->uCSS[3];
printf("AKM OUI : %02x-%02x-%02x#n", vS->aSS[0],

vS->aSS[1], vS->aSS[2]),//AKM OUIl ID=221 -> WPA-1

ID=221 -> WPA-1

printf("AKM TYPE : %02x#n",vS->aSS[3]);//AKM TYPE

sM.aKMSJ[3] = vS->aSS[3];

sM.aKMC[0] = vS->aSC][0];
sM.aKMC[1] = vS->aSC[1];
break;

case 2:

printf("Unicast Cipher Suite OUI: %02x-%02x-%02x%n",

vS->uCSS[4], vS->uCSS[5], vS->uCSS[6]);//Unicast Cipher Suite OUI 1D:221
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printf("Unicast Cipher Suite TYPE: %02x¥#n",
vS->uCSS[7]);//Unicast Cipher Suite TYPE ID:221

sM.uCSS[3] = vS->uCSS[7];

printf("AKM OUI : %02x-%02x-%02x#n", vS->aSS[4],
vS->aSS[5], vS->aSS[6]),//AKM OUIl ID=221 -> WPA-1

printf("AKM TYPE : %02x#n",vS->aSS[7]);//AKM TYPE
ID=221 -> WPA-1

sM.aKMS[3] = vS->aSS[7];

sM.aKMC[0] = vS->aSC[2];
sM.aKMC[1] = vS->aSC[3];
break;

case 3:

printf("Unicast Cipher Suite OUI: %02x-%02x-%02x#n",
vS->uCSSI[8], vS->uCSS[9], vS->uCSS[10]);//Unicast Cipher Suite OUI ID:221

printf("Unicast Cipher Suite TYPE: %02x#n",
vS->uCSS[11]);//Unicast Cipher Suite TYPE ID:221

sM.uCSS[3] = vS->uCSS[11];

printf("AKM OUI : %02x-%02x-%02xWn", vS->aSS[8],
vS->aSS[9], vS->aSS[10]);//AKM QOUI ID=221 -> WPA-1

printf("AKM TYPE : %02x¥#n",vS->aSS[11]);//AKM TYPE
ID=221 -> WPA-1

sM.aKMSJ3] vS->aSS[11];
sM.aKMC[0] = vS->aSC[4];
sM.aKMC[1] = vS->aSC[5];
break;

case 4:
printf("Unicast Cipher Suite OUI: %02x-%02x-%02x#n",
vS->uCSS[12], vS->uCSS[13], vS->uCSS[14]);//Unicast Cipher Suite OUI 1D:221

printf("Unicast Cipher Suite TYPE: %02x#n",
vS->uCSS[15]);//Unicast Cipher Suite TYPE ID:221

sM.uCSS[3] = vS->uCSS[15];
printf("AKM OUI : %02x-%02x-%02x%#n", vS->aSS[12],
vS->aSS[13], vS->aSS[14]);//AKM OUl ID=221 -> WPA-1

printf("AKM TYPE : %02xWn",vS->aSS[15]);//AKM TYPE
ID=221 -> WPA-1

sM.aKMSJ[3] = vS->aSS[15];
sM.aKMC[0] = vS->aSC[6];
sM.aKMCJ[1] = vS->aSC[7];
break;

default:
printf("not found/#n");
break;

if(sM.aKMC[0] != 0x01)
{
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switch (sM.aKMC[0])
{

case 2:
printf("AKM OUI : %02x-%02x-%02x#n", vS->aSS[4],
vS->aSS[5], vS->aSS[6]);//AKM OUIl ID=221 -> WPA-1
printf("AKM TYPE : %02x¥#n",vS->aSS[7]);//AKM TYPE
ID=221 -> WPA-1
sM.aKMSJ[3] = vS->aSS[7];
break;

case 3:
printf("AKM OUI : %02x-%02x-%02x#n", vS->aSS[8],
vS->aSS[9], vS->aSS[10]);//AKM OUI ID=221 -> WPA-1
printf("AKM TYPE : %02xWn" vS->aSS[11]);//AKM
TYPE ID=221 -> WPA-1
sM.aKMSJ[3] = vS->aSS[11];
break;

case 4.
printf("AKM OUI : %02x-%02x-%02x#n", vS->aSS[12],
vS->aSS[13], vS->aSS[14]);//AKM OUI ID=221 -> WPA-1
printf("AKM TYPE : %02xWn" vS->aSS[15]);//AKM
TYPE ID=221 -> WPA-1
sM.aKMSJ[3] = vS->aSS[15];
break;

default:
printf("not found/#n");
break;

}

if(vS->vST == 0x02)//1: WPA Information Type-> WPA-1 &
2: WMM/WME

{

sM.oUI[0] = vS->o0UIl[0];//00-50-2
sM.oUI[1] = vS->oUI[1];
sM.oUI[2] = vS->o0UlI[2];

}
}

}
oF = (OptionField *)((uint8_t*)oF+sizeof(OptionField)+oF->length);
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}

// Flag set
if(sM.oUI[0] == 0x00 && sM.oUI[1] == 0x50 && sM.oUl[2] == 0xf2 &&
sM.gCSS[0] == 0x00 && sM.gCSS[1] == 0xOf && sM.gCSS[2] ==
Oxac)//OUl 00-50-f2 && OUI 00-0f-ac -> WPA2

{
sF.enc = WPA2;
printf("WPA-2: %d¥#n", sF.enc);
sF.groupCipher = Cipher(sM.gCSS[3]);
sF.pairwiseCipher = Cipher(sM.pCSS[3]);
sF.auth = Auth(sM.aSS[3]);

}

else if(sM.oUI[0] == 0x00 && sM.oUI[1] == 0x50 && sM.oUI[2] ==
0xf2)//0Ul 00-50-f2 -> WPA-1

{

sF.enc = WPA1; //WPA-1 flsg:10
printf("WPA-1: %d¥n", sF.enc);

printf("Group Cipher Suite Selector: %d#n",sM.mCSS[3]);//Group Cipher
Suite Selector(multicast) Type

sF.groupCipher = Cipher(sM.mCSS[3]);

printf("Flag: %d¥n", sF.groupCipher);

printf("Pairwise Cipher Suite Selector: %d#n",sM.uCSS[3]);//Pairwise
Cipher Suite Selector(unicast) Type
sF.pairwiseCipher = Cipher(sM.uCSS[3]);

printf("AKM Suite Selector: %d¥n",sM.aKMSJ[3]);//Authentication and Key
Management Type
sF.auth = Auth(sM.aKMSJ[3]);

}
ifsM.wep == 1)//WEP
{
sF.enc = WEP; //WEP flsg:1
printf("WEP flag: %d#n", sF.enc);
}

ifsMwep == 0 && rsn->elementld != 48 && vS->elementld !=
221)//OPEN
{
sF.enc = OPEN; //OPEN flsg:0
printf("OPEN flag: %d#n", sF.enc);
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exPkt.apCipher = sF.groupCipher;
exPkt.apEnc = sF.enc;

int cmpFlag = 0;

int macCmpFlag = 0;
listload::bw_list:iterator it;

for(it = listMan2.WhiteList.begin();it !=listMan2.WhiteList.end();it++){
//printf("view func first %dWn",it->first);
bwDatas = (listload::bwList)it->second;
macCmpFlag = memcmp(&(bwDatas.apMac),&(mF->addr3),6);
iflmacCmpFlag == 0){

//printf("view func datas %d %02x %02x %02x %02x %02x
%02xWn",bwDatas.apCipher,bwDatas.apMac[0], bwDatas.apMac[1],bwDatas.apMac[2],bwDatas.
apMac[3],bwDatas.apMac[4], bwDatas.apMac[5]);

listSF.auth = bwDatas.apAuth;
listSF.enc = bwDatas.apEnc;
listSF.groupCipher = bwDatas.apCipher;
listSF.pairwiseCipher = bwDatas.apCipher;
cmpFlag = memcmp(&listSF,&sF,sizeof(SecurityFlag));
ifcmpFlag == 0){

printf("LISTED AP RULE!(WHITE)#n");

WHTFlag = true;

break;

//passpkt

}

cmpFlag = 0;

macCmpFlag = 0;

if(WHTFlag == false){
printf("NOT LISTED AP RULE(WHITE)#n");
//cmpFlag = 0;
//uint8_t cmpArray[6];
listload::bw_list:iterator it1;

//blk list!
for(it1 = listMan2.BlackList.begin();it1 !=listMan2.BlackList.end();it1++){
bwDatas = (listload::bwList)it1->second;
//printf("cmp with %02x %02x %02x %02x %02x
%02x#n", bwDatas.apMac[0],bwDatas.apMac[1],bwDatas.apMac[2], bwDatas.apMac[3], bwDatas.
apMac[4],bwDatas.apMac[5]);
//printf("checking blk ap rule¥n");
macCmpFlag = memcmp(&(bwDatas.apMac),&(mF->addr3),6);
if(macCmpFlag == 0){

//printf("view func datas %d %02x %02x %02x %02x %02x
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%02xWn",bwDatas.apCipher,bwDatas.apMac[0],bwDatas.apMac[1],bwDatas.apMac[2],bwDatas.
apMac[3],bwDatas.apMac[4],bwDatas.apMac[5]);
listSF.auth = bwDatas.apAuth;
listSF.enc = bwDatas.apEnc;
listSF.groupCipher = bwDatas.apCipher;
listSF.pairwiseCipher = bwDatas.apCipher;
cmpFlag = memcmp(&listSF,&sF,sizeof(SecurityFlag));
ifcmpFlag == 0){
printf("LISTED AP RULE!(BLACK)#n");
BLKFlag = true;
break;
//pass pkt

}

if(WHTFlag == false & BLKFlag == false){

printf("NOT LISTED AP RULE(BLACK) #n");

storFlag = true;

char tempbuf[250] = {0};

sprintf(tempbuf,"%s MISCONFIGURE AP"atkType);

sprintf(atkType,"%s" tempbuf);

//sprintf(blkBuff,"INSERT INTO TEST_BB (ap_mac,channel,block_stat)
VALUES
('%02x%02x%02x%02x%02x%02x",%d,%d)",exPkt.apMac[0],exPkt.apMac[1],exPkt.apMac[2], exP
kt.apMac[3],exPkt.apMac[4],exPkt.apMac[5],exPkt.channel,exPkt.blockStat);

printf("#ndisordered!(AP RULE)#Wn");

//start function(structure write and throw map,db)

}

//pkt data extract here
//*********************Initialization*******************
memset(rH,0,sizeof(struct RadiotapHeader));
memset(rF,0,sizeof(struct RadiotapHeaderFlag));
memset(mF,0,sizeof(struct ManagementFrame));
memset(fC,0,sizeof(struct FrameCtrl));
memset(oF,0,sizeof(struct OptionField));
memset(rsn,0,sizeof(struct Rsn));
memset(vS,0,sizeof(struct VendorSpecific));
return O;

void usrfunc::test_viewFunc(listload& listMan2){
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// lLoad = listMan2;
//listload::blk_list test = blkColl;
listload::bw_list:iterator it;

for(it = listMan2.BlackList.begin();it !=listMan2.BlackList.end();it++){
//printf("view func first %d¥#n" it->first);
bwDatas = (listload::bwList)it->second;
//printf("view func datas %d %02x %02x %02x %02x %02x
%02xWn",bwDatas.apCipher,bwDatas.apMac[0],bwDatas.apMac[1],bwDatas.apMac[2],bwDatas.
apMac[3],bwDatas.apMac[4],bwDatas.apMac[5]);

}

void usrfunc:macCmp(listload& listMan2){
WHTFlag = false; //true in whitelisted packet
BLKFlag = false; //true in blacklisted packet
RadiotapHeader *RH = (RadiotapHeader*)(pktPoint);
int length = RH->length;
ManagementFrame *MF = (ManagementFrame*)(pktPoint+length);

// int type = MF->frameCtrl.type;
// int subtype = MF->frameCtrl.subType;

// int ToDs = MF->frameCtrl.toDs;
//int FromDs = MF->frameCtrl.fromDs;

//iftype == 0 && subtype ==0) // Association Request Frame
//if(ToDs == 0 && FromDs == 1) || (ToDs == 1 && FromDs == 0))
/At

//printf(“::::::::::::::::::::::::::::::::::::::::::::::::::::Wn")

1

/* if(ToDs == 0 && FromDs == 1)

{
printf("From AP¥n");

}

else

{
printf("To APWn");
Y/
//printf("Sequnce : %dWn", (MF->seq));

//printMac(1); //DA
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//printMac(2); //SA
//printMac(3); //BSS 1D
int cmpFlag = 0;

//int macCmpFlag = 0;
//uint8_t cmpArray[6];
listload::bw_list:iterator it;

printf("AP MAC CHECK#nWn");

//wht list!
for(it = listMan2.WhiteList.begin();it !=listMan2.WhiteList.end();it++){
//printf("view func first %d¥#n" it->first);
bwDatas = (listload:bwList)it->second;
printf("pkt compare with %02x %02x %02x %02x %02x
%02xWn",bwDatas.apMac[0], bwDatas.apMac[1],bwDatas.apMac[2],bwDatas.apMac[3], bwDatas.
apMac[4],bwDatas.apMac[5]);
printf("current pack bssid is %02x %02x %02x %02x %02x
%02xWn",MF->addr3[0],MF->addr3[1],MF->addr3[2],MF->addr3[3],MF->addr3[4],MF->addr3
(51
cmpFlag = memcmp(&(bwDatas.apMac),8(MF->addr3),6);
ifcmpFlag == 0){
printf("LISTED AP MAC!/WHITE)¥n");
WHTFlag = true;
break;
//start function(structure write and throw map,db)

}

if(WHTFlag == false){
printf("NOT LISTED AP MAC(WHITE)#¥n");
cmpFlag = 0;
//uint8_t cmpArray[6];
listload::bw_list:iterator it1;

//blk list!
for(it1 = listMan2.BlackList.begin();it1 !=listMan2.BlackList.end();it1++){
//printf("view func first %dW#n"it->first);
bwDatas = (listload::bwList)it1->second;
printf("cmp with %02x %02x %02x %02x %02x
%02x¥#n", bwDatas.apMac[0],bwDatas.apMac[1],bwDatas.apMac[2], bwDatas.apMac[3], bwDatas.
apMac[4],bwDatas.apMac[5]);

cmpFlag = memcmp(&(bwDatas.apMac),&(MF->addr3),6);
ifcmpFlag == 0){

printf("LISTED AP MAC!(BLACK)#n");

BLKFlag = true;

break;

_64_



//already enrolled packet
//start function(structure write and throw map,db)

}

if(WHTFlag == false && BLKFlag == false){
printf("Wndisordered!(AP MAC)Wn¥#n");
storFlag = true;
char tempbuf[250] = {0,};
sprintf(tempbuf,"%s UNDEFINED AP MAC" atkType);
sprintf(atkType,"%s",tempbuf);
//start function(structure write and throw map,db)

}
/*
for(int i=0 ; i<6; i++)
{
int n = memcmp((char*)&MF->addr2[i], (char*)&MF->addr3[i], 6);
if(n 1= 0)
{
printf("different#n");
break;
!
if(i==5)
{
printf("sameW#n");
}
}
*/
}
e

void usrfunc:adhocFunc(listload& listMan2)

{
WHTFlag = false; //true in whitelisted packet
BLKFlag = false; //true in blacklisted packet
//WHTFlag = false; //true in whitelisted packet
//BLKFlag = false; //true in blacklisted packet
Radiotap_Header *RD;
RD = (Radiotap_Header *)pktPoint;
Manage *MN;
MN = (Manage *)((u_char *)pktPoint+(RD->Header_Length));
//u_int16_t typel = ntohs(MN->Duration);
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//u_int16_t type2 = ntohs(MN->Sequence);

//u_int8_t frame_type = MN->Frame_control.Type;
u_int8_t IBSS_Status = MN->Wireless_LAN.Capavility.IBSS;
exPkt.adHocStat = IBSS_Status;
//listMan?2.bwStruct.adHocStat = IBSS_Status;

/*
if (frame_type == 0){
Printf("-----mm oo Wwn'"y;
printf("Managemenet Framen");
printf("FramControl : %04x#n", MN->Frame_control);
printf("frame type : %02x#n", frame_type);
printf(" Durat|on/ID Field : %04x#n" type1);
printf("DA : %02x-%02x-%02x-%02x-%02x-%02x#n",
MN->des[0], MN- >des[1],MN—>des[2],MN—>des[3],MN->des[4],MN->des[5]);
printf("SA : %02x-%02x-%02x-%02x-%02x-%02x#n",
MN->src[0],MN->src[1],MN->src[2], MN->src[3],MN->src[4], MN->src[5]);
printf("BSS ID : %02x-%02x-%02x-%02x-%02x-%02x%n",
MN->BSS[0],MN->BSS[1], MN->BSS[2], MN->BSS[3], MN->BSS[4], MN->BSS[5]);
printf("Sequence : %04x#n", type2);
printf("Capability : %04x#n", MN->Wireless_LAN.Capavility);
printf("IBSS_satus : %071x#n",IBSS_Status);

*/
// if (IBSS_Status == 1)
// printf("WnAD-HOC Network#n");
int cmpFlag =
int macCmpFlag = 0;
//uint8_t cmpArray[6];
listload::bw_list:iterator it;

PrNEF(" === mm o Wn");
//wht list!

printf("CHECK IBSSWn¥#n");

for(it = listMan2.WhiteList.begin();it !=listMan2.WhiteList.end();it++){
//printf("view func first %d¥#n",it->first);
bwDatas = (listload::bwList)it->second;
macCmpFlag = memcmp(&(bwDatas.apMac),&(MN->BSS),6);
if(macCmpFlag == 0){

printf("cmp ibss with %d¥#n" bwDatas.adHocStat);

cmpFlag = memcmp(&(bwDatas.adHocStat), &(IBSS_Status),1);
ifcmpFlag == 0){

printf("LISTED IBSSI(WHITE)#n");

WHTFlag = true;

break;

//alreay have white list OK.
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cmpFlag = 0;

macCmpFlag = 0;

if(WHTFlag == false){
printf("NOT LISTED IBSS(WHITE) #n");
cmpfFlag = 0;
//uint8_t cmpArray[6];
listload::bw_list:iterator it1;

//blk list!
for(it1 = listMan2.BlackList.begin();it1 !=listMan2.BlackList.end();it1++){

//printf("view func first %d¥#n" it->first);

bwDatas = (listload::bwList)it1->second;

//printf("cmp with %02x %02x %02x %02x %02x
%02xWn",bwDatas.apMac[0], bwDatas.apMac[1],bwDatas.apMac[2],bwDatas.apMac[3], bwDatas.
apMac[4],bwDatas.apMac[5]);

//printf("check blk ibss#n");

macCmpFlag = memcmp(&(bwDatas.apMac),&(MN->BSS),6);

iflmacCmpFlag == 0){

printf("cmp ibss with %d¥#n" bwDatas.adHocStat);

cmpFlag = memcmp(&(bwDatas.adHocStat),&(IBSS_Status),1);
ifcmpFlag == 0){

printf("LISTED [BSS#n");

BLKFlag = true;

break;

//alreay have black list OK.

}

if(WHTFlag == false && BLKFlag == false){
printf("NOT LISTED IBSS(BLACK) #n");
printf("#ndisordered!(ad_hoc)¥#nWn");
storFlag = true;
char tempbuf[250] = {0};
sprintf(tempbuf,"%s AD HOC" atkType);
sprintf(atkType,"%s" tempbuf);
//start function(structure write and throw map,db)
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void usrfunc:retMacAdr(void)
{
switch(this->frameCtrl->toDs){
case O:
{
if(this->frameCtrl->fromDs == 0){//00
memcpy(this->APMac,this->mgmtFrame->addr3,6);
memcpy(this->cliMac,this->mgmtFrame->addr1,6);
lelse if(this->frameCtrl->fromDs == 1){
memcpy(this->APMac,this->mgmtFrame->addr2,6);
memcpy(this->cliMac,this->mgmtFrame->addr1,6);

}
}
break;
case 1:
{
if(this->frameCtrl->fromDs == 0){//00
memcpy(this->APMac,this->mgmtFrame->addr1,6);
memcpy(this->cliMac,this->mgmtFrame->addr3,6);
lelse if(this->frameCtrl->fromDs == 1){
printf("11#n");
}
}
break;
}
}

void usrfunc:getCurPktData(listload& listMan2){
radioGetData();//channel
exPkt.blockStat = 1;
exPkt.macType = 0;//beaconFrame

memcpy(exPkt.apMac,mgmtFrame->addr3,6);
memset(exPkt.stMac,0,6);//beaconFrame
memset(atkType,0,sizeof(atkType));

WHTFlag = false; //true in whitelisted packet
BLKFlag = false;

storFlag = false;

/*
int apAuth;
int apCipher;
int apEnc;
uint8_t adHocStat;
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uint8_t ssid[50];
*/

}
void usrfunc:radioGetData(void){
int pflgLth = 0;
bool pflgChk = false;
for(u_long i=0; i<3;i++){
pflgChk = RTHeader->rth_present_flg.pflg1.test(i);
//stdcout << pflgChk <<std:endl;
if(pflgChk == true){
pflgLth += PFrame.pflg_allignl[i];
//printf("current pFlg %d#n" pflgLth);

}
uint16_t HzChan = 0;

memcpy(&HzChan,(pktPoint+RTHEADERSIZE+pflgLth),2);
if(HzChan == 128){

doFlag = true;
}else{

doFlag = false;

}

exPkt.channel = hzToCnl(HzChan);

}

void usrfunc:inputCurPkt(listload& listMan2,dbmanage& wipsDB2){

printf("expkt channel %d#n",exPkt.channel);

char blkBuff[255];

char logBuff[255];

//exPkt;

printf("INSERT INTO wips_black_blacklist (ap_mac,channel,blockstat) VALUES
('%02x%02x%02x%02x%02x%02x",%d, %d)Wn" exPkt.apMac[0],exPkt.apMac[1],exPkt.apMac[2],e
xPkt.apMac[3],exPkt.apMac[4],exPkt.apMac[5],exPkt.channel,exPkt.blockStat);

sprintf(blkBuff,"INSERT INTO wips_black_blacklist
(ap_mac,channel,block_stat,ap_auth,ap_cipher,ap_enc,mac_type,ad_hoc_stat,ap_ssid) VALUES
('%02x%02x%02x%02x%02x%02x",%d,%d, %d, %d,%d, %d,%d, %s')" exPkt.apMac[0],exPkt.apMac
[1],exPkt.apMac[2],exPkt.apMac[3],exPkt.apMac[4],exPkt.apMac[5],exPkt.channel,exPkt.blockSta
t,exPkt.apAuth,exPkt.apCipher,exPkt.apEnc,exPkt.macType,exPkt.adHocStat, exPkt.ssid);

printf("send blk!! %sWn", blkBuff);

wipsDB2.dbQuery(blkBuff);

sprintf(logBuff,"INSERT INTO wips_home_blocklog (mac,atk_type,block_stat) VALUES
('%02x%02x%02x%02x%02x%02x",' %s',%d)",exPkt.apMac[0],exPkt.apMac[1],exPkt.apMac[2], exP
kt.apMac[3],exPkt.apMac[4],exPkt.apMac[5],atkType,exPkt.blockStat);

printf("send log!! %sWn" logBuff);

wipsDB2.dbQuery(logBuff);

//input data in map
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}

listMan2.blkCnt +=1;
memset(&(listMan2.bwStruct),0,sizeof(listMan2.bwStruct));
//memcpy(&(listMan2.bwStruct),&exPkt,sizeof(exPkt));
listMan2.bwStruct.apAuth = exPkt.apAuth;
listMan2.bwStruct.channel = exPkt.channel;
listMan2.bwStruct.blockStat = exPkt.blockStat;
listMan2.bwStruct.apCipher = exPkt.apCipher;
listMan2.bwStruct.apEnc = exPkt.apEnc;
listMan2.bwStruct.macType = exPkt.macType;
listMan2.bwStruct.adHocStat = exPkt.adHocStat;
memcpy(&(listMan2.bwStruct.apMac[0]),&(exPkt.apMac[0]),6);
memcpy(&(listMan2.bwStruct.stMac[0]),&(exPkt.stMac[0]),6);
memcpy(&(listMan2.bwStruct.ssid),&(exPkt.ssid),32);

listMan2.BlackList.insert(std::make_pair(listMan2.blkCnt listMan2.bwStruct));

//change query

int usrfunc::hzToCnl(uint16_t recvhz){

switch(recvhz) {
case 24124
return 1;
}
case 2417
return 2;
}
case 2422:{
return 3;
}
case 24274
return 4;
}
case 2432
return 5;
}
case 2437
return 6;
}
case 24424
return 7;
}
case 2447
return 8;
}
case 2452:{
return 9;
}
case 2457
return 10;

}
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case 2462:{

return 11;
}
case 2467:{
return 12;
}
case 2472
return 13;
}
case 2482:{
return 14;
}
default :
break;

[usrfunc.h] <check error>

#ifndef USRFUNC_H
#define USRFUNC_H
#pragma once
#include <arpa/inet.h>
#include <iostream>
#include <cstdint>

#include "packframes.h"
#include "aaa.h"
#include "listload.h"
#include "wonsang.h"
#include "bbb.h"
#include <map>

#define RTHEADERSIZE 12

class usrfunc
{
public:
#pragma pack(push,1)
packframes PFrame;
uint8_t* pktPoint;
packframes:rth* RTHeader;
packframes::FC* frameCtrl;
struct packframes:ManagementFrame *mgmtFrame;
listload::bwList bwDatas;
bool WHTFlag = false; //true in whitelisted packet
bool BLKFlag = false; //true in blacklisted packet
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bool storFlag = false;
uint8_t cliMacl6];
uint8_t APMac[6];

typedef struct currentPktData{

}curPktData;
#pragma pack(pop)
//listload* ILoad;
//listload t1t1;

bool doFlag = false;

typedef struct extPktinfo{
uint8_t apMacl[6];
int channel;
int blockStat;
uint8_t stMacl6];
int apAuth;
int apCipher;
int apEnc;
int macType;
uint8_t adHocStat;
char ssid[32];

}extPktDatas;
extPktDatas exPkt;

char atkType[250] = {0,};

usrfunc(uint8_t *packet);
void fakeAp(listload& listMan2);

[[-mmmmmm e hyunseok

int Cipher(uint8_t cipher);

int Auth(uint8_t auth);

int misconfigureAP(listload& listMan2);

void adhocFunc(listload& listMan2);
[/ mmmmmmmmmmmmm s
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void retMacAdr(void);

void getCurPktData(listload& listMan2);

void radioGetData(void);

void inputCurPkt(listload& listMan2,dbmanage& wipsDB2);
int hzToCnl(uint16_t recvhz);

%

#endif // USRFUNC_H

[wonsang.h] <combine userFunc>

#ifndef WONSANG_H
#define WONSANG_H

#include <pcap.h>
#include <stdio.h>
#include <arpa/inet.h>
#include <string.h>

#pragma pack(push, 1)
/*struct RadiotapHeader

{
uint8_t reversion;
uint8_t pad;
uint16_t  length;

2

typedef struct FrameCtrl

{
uint8_t  protocolVer 2 2;
uint8_t  type D2
uint8_t  subType D4
uint8_t  toDs 1
uint8_t  fromDs c 1
uint8_t  moreFlag o1
uint8_t  retry :1;
uint8_t  powerMgmt 1
uint8_ t moreData 1
uint8_t  protectedFrame : 1;
uint8_t  order 1

G

struct ManagementFrame

{

FC frameCtrl; //2 bytes

uint16_t  duration; //2 bytes
uint8_t addr1[6]; //6 bytes
uint8_t addr2[6]; //6 bytes
uint8_t addr3[6]; //6 bytes
//uint16_t  seq_ctrl; //2 bytes
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uint16_t seq 212, //12 bits
uint8_t fragment : 4; // 4 bits
Y/
#pragma pack(pop)

void macCmp(const u_char *);
void printMac(const u_char *, int);

#endif // WONSANG_H

[index.html]

{% extends 'base.html" %}
{% load static %}
{% block content %}
<link
href="http://fonts.googleapis.com/css?family=Love+Ya+Like+A+Sister'rel="stylesheet'type="te
xt/css'>
<style type="text/css">
h3 {
font-size: 87px;
font-family: "Love Ya Like A Sister", cursive;
color: white;
background-color: black;
position: absolute;
height: 150px;
width: 100%;
z-index: 1;
text-align: center;
margin-bottom: 10px;
padding: 30px;
left: -15px;
top: 1px;
th5 {
font-family: "Love Ya Like A Sister","Courier New";
font-size: 30px;
color: white;
background-color: black;
position: absolute;
display: table-cell;
text-align: center;
padding-top: 40px;
top: 1px;
left: 10%;
height: 150px;
width: 12%;
z-index: 2
fa {
text-decoration: none;
color: #333333;
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J#topMenu {
position: absolute;
top: 160px;
left: 15px;
height: 50px;
width: 100%;
W¥topMenu ul i {
list-style: none;
color: white;
background-color: #2d2d2d;
float: left;
width: 31.7%;
line-height: 53px;
vertical-align: middle;
text-align: center;
border-left: 1px solid white;
}¥topMenu .menulink {
text-decoration: none;
color: white;
display: block;
width: 100%;
font-size: 26px;
font-weight: bold;
/*font-family: "Trebuchet MS", Dotum, Arial;*/
font-family: "Love Ya Like A Sister","Courier New";
}#topMenu .menulLink:hover{
color: red;
background-color: #4d4d4d;
Mtschool {
z-index: 3;
position: absolute;
top: 3px;
left: 15px;
width: 9%;
height: 145px;
Mooter {
position: fixed;
left: Opx;
bottom: Opx;
height: 30px;
width: 100%;
background: #5D5D5D;
color: white;
padding-top: 5px;
Hooter p {
text-align: center;
H¥mainimg {
top: 230px;
left: 60px;
position: absolute;
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width: 47%;
height: 63%;
Jbutton {
position: absolute;
top: 50px;
float: right;
right: 80px;
z-index: 4;
width: 100px;
background-color: #f8585b;
border: none;
color: white;
padding: 15px;
text-align: center;
text-decoration: none;
display: inline-block;
font-size: 18px;
font-weight: bold;
border-radius: 10px;
cursor: pointer;
tha{
position: relative;
top: 260px;
left: 55%;
text-align: left;
font-weight: bold;
font-size: 30px;
line-height: 1.7em;
width: 40%;
padding-bottom: 30px;
}</style>
<div class="row" style="text-align: center;">
<div class="col-sm-12">
<h3>Packet Hunter</h3>
</div>
<div img>
<img id="school" src="/static/aaaaa.png">
</div>
<div text><h5>Information<br/>Security</h5> </div>
<nav id ="topMenu">
<ul>
<li><a class="menulLink" href="{% url 'main' %} ">HOME</a></li>
<li><a class="menuLink" href="{% url 'block_log" %}">Block
Logs</a></li>
<li><a class="menulLink" href="{% url 'member' %}">Member</a></li>
</ul>
</nav>
<button type="button"
onclick="location.href="http://localhost:8000/admin/login/?next=/admin/'
"> 22| Xk </button>
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<img id="mainimg" src="/static/bbb.PNG">
<h4>- FHHERR AZ2 =2 AMEE0| S7I0t= HHHE,
<br/>8&nbsp;&nbsp;F41 HIEX IO Ot &2 HOtRIA WHEO0| <br/>8&nbsp;&nbsp;F4
S0 thigt gXl S 245 Soli<br/>&nbsp;&nbsp; 2 AZF2 2 HX[SHE WIPS A[AES
N <br/><br/>- 8{7tE|X| g2 BUUEIS T EXl<br/>- S{7IEX|E2 2AF AP HE
Xl <br/>- EOHEMO| @[Et|= EQHE7 EX|<br/>- Fake AP, AP Mac
Spoofing & X[ </h4>
<footer>
<div class="footer">
<blockquote>
<p>Copyright(c)2018 PacketHunter All rights reserved.</p>
</blockquote>
</footer>
<!l--<div class="col-sm-12">
<p><a href="{% url 'block_log" %}">Block Logs</p>
<p><a href="{% url 'white_list' %}">White list</p>
<p><a href="{% url 'black_list' %}">Black list</p>
</div>-->
</div>
{% endblock %}

[block_log.html]

{% extends 'base.html" %}
{% load static %}
{% block content %}
<link
href="http://fonts.googleapis.com/css?family=Love+Ya+Like+A+Sister'rel="stylesheet'type="te
xt/css'>
<style type="text/css">
h3 {
font-size: 87px;
font-family: "Love Ya Like A Sister", cursive;
color: white;
background-color: black;
position: absolute;
height: 150px;
width: 100%;
z-index: 1;
text-align: center;
margin-bottom: 10px;
padding: 30px;
left: -15px;
top: 1px;
th5 {
font-family: "Love Ya Like A Sister","Courier New";
font-size: 30px;
color: white;
background-color: black;
position: absolute;
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display: table-cell;
text-align: center;
padding-top: 40px;
left: 10%;
height: 150px;
width: 12%;
z-index: 2
fa {
text-decoration: none;
color: #333333;
J#topMenu {
position: absolute;
top: 160px;
height: 50px;
width: 100%;
W¥topMenu ul i {
list-style: none;
color: white;
background-color: #2d2d2d;
float: left;
width: 31.7%;
line-height: 53px;
vertical-align: middle;
text-align: center;
border-left: 1px solid white;
}#topMenu .menulink {
text-decoration: none;
color: white;
display: block;
width: 100%;
font-size: 26px;
font-weight: bold;
/*font-family: "Trebuchet MS", Dotum, Arial;*/
font-family: "Love Ya Like A Sister","Courier New";
}#topMenu .menulLink:hover{
color: red;
background-color: #4d4d4d;
Mtschool {
z-index: 3;
position: absolute;
top: 3px;
width: 9%;
height: 145px;
Jtable {
position: absolute;
width: 100px;
top: 215px;
left: 65px;
text-align: center;
padding-bottom: 30px;
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}button {
position: absolute;
top: 50px;
float: right;
right: 80px;
z-index: 4;
width: 100px;
background-color: #f8585b;
border: none;
color: white;
padding: 15px;
text-align: center;
text-decoration: none;
display: inline-block;
font-size: 18px;
font-weight: bold;
border-radius: 10px;
cursor: pointer;
Mooter {
position: fixed;
left: Opx;
bottom: Opx;
height: 30px;
width: 100%;
background: #5D5D5D;
color: white;
padding-top: 5px;
Hooter p {
text-align: center;
}</style>
<div class="col-sm-12">
<h3>Packet Hunter</h3>
</div>
<div img>
<img id="school" src="/static/aaaaa.png">
</div>
<div text><h5>Information<br/>Security</h5> </div>
<nav id ="topMenu">
<ul>
<li><a class="menuLink" href="{% url 'main" %} ">HOME</a></li>
<li><a class="menuLink" href="{% url 'block_log" %}">Block
Logs</a></li>
<li><a class="menulLink" href="{% url 'member' %}">Member</a></li>
</ul>
</nav>
<button type="button"
onclick="location.href="http://localhost:8000/admin/login/?next=/admin/'
"> 22| Xk < /button>
<table class="table col-sm-11">
<thead>
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<tr>
<th scope="col">number</th>
<th scope="col">mac</th>
<th scope="col">atk_type</th>
<th scope="col">block_stat</th>

</tr>
</thead>
<tbody>
{% for row in wips_home_blocklog %}
<tr>
<td>{{ row.number }}</td>
<td>{{ row.mac }}</td>
<td>{{ row.atk_type }}</td>
<td>{{ row.block_stat }}</td>
</tr>
{% endfor %}
</tbody>
</table>
<footer>

<div class="footer">
<blockquote>
<p>Copyright(c)2018 PacketHunter All rights reserved.</p>
</blockquote>
</footer>
{% endblock %}

[member.html]

{% extends 'base.html' %}
{% load static %}
{% block content %}
<link
href="http://fonts.googleapis.com/css?family=Love+Ya+Like+A+Sister'rel="stylesheet'type="te
xt/css'>
<link href="https://fonts.googleapis.com/css?family=Source+Sans+Pro" rel="stylesheet">
<style type="text/css">
h3 {
font-size: 87px;
font-family: "Love Ya Like A Sister", cursive;
color: white;
background-color: black;
position: absolute;
height: 150px;
width: 100%;
z-index: 1;
text-align: center;
margin-bottom: 10px;
padding: 30px;
left: -15px;
top: 1px;
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th5 {
font-family: 'Source Sans Pro', sans-serif;
font-size: 30px;
color: white;
background-color: black;
position: absolute;
display: table-cell;
text-align: center;
padding-top: 40px;
left: 10%;
height: 150px;
width: 10%;
z-index: 2
fa {
text-decoration: none;
color: #333333;
HtopMenu {
position: absolute;
top: 160px;
height: 50px;
width: 100%;
}#topMenu ul i {
list-style: none;
color: white;
background-color: #2d2d2d;
float: left;
width: 31.7%;
line-height: 53px;
vertical-align: middle;
text-align: center;
border-left: 1px solid white;
}#topMenu .menulink {
text-decoration: none;
color: white;
display: block;
width: 100%;
font-size: 26px;
font-weight: bold;
/*font-family: "Trebuchet MS", Dotum, Arial;*/
font-family: "Love Ya Like A Sister","Courier New";
}#topMenu .menulLink:hover{
color: red;
background-color: #4d4d4d;
}#school {
z-index: 3;
position: absolute;
top: 3px;
width: 9%;
height: 145px;
}div.member_1 {
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position: relative;
width: 50%;
float: left;
top: 230px;
font-size: 30px;
}div.member_2 {
position: relative;
width: 50%;
float: left;
top: 230px;
font-size: 30px;
}div.member_3 {
position: relative;
width: 50%;
float: left;
top: 260px;
font-size: 30px;
}div.member_4 {
position: relative;
width: 50%;
float: left;
top: 260px;
font-size: 30px;
}div.member_ 5 {
position: relative;
width: 50%;
float: left;
top: 290px;
font-size: 30px;
}div.member_6 {
position: relative;
width: 50%;
float: left;
top: 290px;
font-size: 30px;
}¥memberimage {
width: 200px;
height: 200px;
}.col-md-6{
position: absolutes;
width: 50%;
top: 230px;
padding-bottom: 30px;
th4 {
position: absolute;
font-size: 30px;
top: 60px;
left: 250px;
Mooter {
position: fixed;
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left: Opx;
bottom: 0px;
height: 30px;
width: 100%;
background: #5D5D5D;
color: white;
padding-top: 5px;
Hooter p {
text-align: center;
}button {
position: absolute;
top: 50px;
float: right;
right: 80px;
z-index: 4;
width: 100px;
background-color: #f8585b;
border: none;
color: white;
padding: 15px;
text-align: center;
text-decoration: none;
display: inline-block;
font-size: 18px;
font-weight: bold;
border-radius: 10px;
cursor: pointer;
}</style>
<div class="col-sm-12">
<h3>Packet Hunter</h3>
</div>
<div img>
<img id="school" src="/static/aaaaa.png">
</div>
<div text><h5>Information<br/>Security</h5> </div>
<nav id ="topMenu">
<ul>
<li><a class="menuLink" href="{% url 'main' %} ">HOME</a></li>
<li><a class="menuLink" href="{% url 'block_log" %}">Block
Logs</a></li>
<li><a class="menuLink" href="{% url 'member' %}">Member</a></li>
</ul>
</nav>
<button type="button"
onclick="location.href="http://localhost:8000/admin/login/?next=/admin/'
"> 22| Xk </button>
<div>
<div class="row">
<div class="col-md-6"><img id="memberimage"
src="/static/40725741,jpg"><h4> <strong>xF AHM </strong><br/> - Mis-configured
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AP EfX|</h4></div>

<div class="col-md-6"><img
src="/static/40725741 jpg"> <h4> <strong>ZX ¥
T8 </hd> </div>

<div class="col-md-6"><img
src="/static/40725741.jpg"> <h4> <strong>Z= &
£t X </hd> </div>

<div class="col-md-6"><img
src="/static/40725741 jpg"> <h4> <strong>Z ¥
Mis-association EtX|</h4></div>

<div class="col-md-6"> <img
src="/static/40725741 jpg"> <h4> <strong>ZX ¥
Spoofing EtX|</h4></div>

<div class="col-md-6"><img
src="/static/40725741.jpg"> <h4> <strong>Z= &

id="memberimage"
A< /strong> <br/>

id="memberimage"
8O A < /strong> <br/>

id="memberimage"
T2 & </strong> <br/>

id="memberimage"
MZBZE</strong><br/>

id="memberimage"
A et</strong><br/>

T&<br/> - Web Interface[Front & Back End]</h4></div>

<footer>
<div class="footer">
<blockquote>

4RI A A 8

Ad-Hoc Connect

Client

Fake AP, AP Mac

Log Viewer

<p>Copyright(c)2018 PacketHunter All rights reserved.</p>

</blockquote>
</footer>
{% endblock %}

[member.html]

{% extends 'base.html' %}
{% load static %}

{% block content %}
<link

href="http://fonts.googleapis.com/css?family=Love+Ya+Like+A+Sister'rel="stylesheet'type="te

xt/css'>

<link href="https://fonts.googleapis.com/css?family=Source+Sans+Pro" rel="stylesheet">

<style type="text/css">
h3 {
font-size: 87px;

font-family: "Love Ya Like A Sister", cursive;

color: white;
background-color: black;
position: absolute;
height: 150px;
width: 100%;
z-index: 1;
text-align: center;
margin-bottom: 10px;
padding: 30px;
left: -15px;
top: 1px;

th5 {
font-family: 'Source Sans Pro', sans-serif;
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font-size: 30px;
color: white;
background-color: black;
position: absolute;
display: table-cell;
text-align: center;
padding-top: 40px;
left: 10%;
height: 150px;
width: 10%;
z-index: 2
ta {
text-decoration: none;
color: #333333;
HtopMenu {
position: absolute;
top: 160px;
height: 50px;
width: 100%;
W¥topMenu ul i {
list-style: none;
color: white;
background-color: #2d2d2d;
float: left;
width: 31.7%;
line-height: 53px;
vertical-align: middle;
text-align: center;
border-left: 1px solid white;
}#topMenu .menulink {
text-decoration: none;
color: white;
display: block;
width: 100%;
font-size: 26px;
font-weight: bold;
/*font-family: "Trebuchet MS", Dotum, Arial;*/
font-family: "Love Ya Like A Sister","Courier New";
}#topMenu .menulLink:hover{
color: red;
background-color: #4d4d4d;
Mschool {
z-index: 3;
position: absolute;
top: 3px;
width: 9%;
height: 145px;
}div.member_1 {
position: relative;
width: 50%;
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float: left;
top: 230px;
font-size: 30px;
}div.member_2 {
position: relative;
width: 50%;
float: left;
top: 230px;
font-size: 30px;
}div.member_3 {
position: relative;
width: 50%;
float: left;
top: 260px;
font-size: 30px;
}div.member_4 {
position: relative;
width: 50%;
float: left;
top: 260px;
font-size: 30px;
}div.member_5 {
position: relative;
width: 50%;
float: left;
top: 290px;
font-size: 30px;
}div.member_6 {
position: relative;
width: 50%;
float: left;
top: 290px;
font-size: 30px;
}J¥memberimage {
width: 200px;
height: 200px;
}.col-md-6{
position: absolutes;
width: 50%;
top: 230px;
padding-bottom: 30px;
th4 {
position: absolute;
font-size: 30px;
top: 60px;
left: 250px;
MHooter {
position: fixed;
left: Opx;
bottom: 0px;
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height: 30px;
width: 100%;
background: #5D5D5D;
color: white;
padding-top: 5px;
Hooter p {
text-align: center;
tbutton {
position: absolute;
top: 50px;
float: right;
right: 80px;
z-index: 4;
width: 100px;
background-color: #f8585b;
border: none;
color: white;
padding: 15px;
text-align: center;
text-decoration: none;
display: inline-block;
font-size: 18px;
font-weight: bold;
border-radius: 10px;
cursor: pointer;
}</style>
<div class="col-sm-12">
<h3>Packet Hunter</h3>
</div>
<div img>
<img id="school" src="/static/aaaaa.png">
</div>
<div text><h5>Information<br/>Security</h5> </div>
<nav id ="topMenu">
<ul>
<li><a class="menulLink" href="{% url 'main' %} ">HOME</a></li>
<li><a class="menuLink" href="{% url 'block_log" %}">Block
Logs</a> </li>
<li><a class="menuLink" href="{% url 'member’ %}">Member</a></li>
</ul>
</nav>
<button type="button"
onclick="location.href="http://localhost:8000/admin/login/?next=/admin/'
">22| Xt </button>
<div>
<div class="row">
<div class="col-md-6"><img id="memberimage"
src="/static/40725741,jpg"> <h4> <strong> X% A M </strong><br/> - Mis-configured
AP EfX|</h4> </div>
<div class="col-md-6"><img id="memberimage"
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src="/static/40725741,jpg"><h4> <strong>ZE R ZA</strong><br/> - YX|A|AH
T8 </h4></div>
<div class="col-md-6"><img id="memberimage"
src="/static/40725741 jpg"> <h4> <strong>Z & 8F B </strong><br/> - Ad-Hoc Connect
EtX| </h4> </div>
<div class="col-md-6"><img id="memberimage"
src="/static/40725741jpg"> <h4> <strong>Z & F & & </strong><br/> - Client
Mis-association & X|</h4> </div>
<div class="col-md-6"><img id="memberimage"
src="/static/40725741,jpg"> <h4> <strong>Z & T @& </strong><br/> - Fake AP, AP Mac
Spoofing & X|</h4></div>
<div class="col-md-6"><img id="memberimage"
src="/static/40725741,jpg"><h4> <strong>Z ¢ &A{2t</strong><br/> - Log Viewer
T3 <br/> - Web Interface[Front & Back End]</h4></div>
<footer>
<div class="footer">
<blockquote>
<p>Copyright(c)2018 PacketHunter All rights reserved.</p>
</blockquote>
</footer>
{% endblock %}

[base.html]

<IDOCTYPE html>
{% load staticfiles %}
<html lang="en">
<head>
<meta charset="UTF-8">
<title>PacketHunter</title>
<link rel="stylesheet"
href="https://stackpath.bootstrapcdn.com/bootstrap/4.1.3/css/bootstrap.min.css"
integrity="sha384-MCw98/SFnGE8fJT3GXwWEONgsV7Zt27NXFoaoApmYm81iuXoPkFOJwJ8ERdk
NLPMQO" crossorigin="anonymous">
<script src="https://code.jquery.com/jquery-3.3.1.slim.min.js"
integrity="sha384-q8i/X+965Dz00rT7abkK41JStQIAqVgRVzpbzo5smXKp4YfRvH+8abtTE1Pi6jiz
0" crossorigin="anonymous"> </script>
<script src="https://cdnjs.cloudflare.com/ajax/libs/popper.js/1.14.3/umd/popper.min.js"
integrity="sha384-ZMP7rVo3mlykV+2+9J3UJ46jBkOWLaUAdN689aCwoqbBlJiSnjAK/IBWVCWPI
Pm49" crossorigin="anonymous"> </script>
<script src="https://stackpath.bootstrapcdn.com/bootstrap/4.1.3/js/bootstrap.min.js"
integrity="sha384-ChfqqxuZUCnJSK3+MXmPNIyE6ZbWh2IMqE241rYig)xyMiZ60W/JmZQ5stw
EULTy" crossorigin="anonymous"> </script>
<link rel="stylesheet" href="{% static '/static/css/index.css' %}">
<style type="text/css">
body {
background-color: #FFFFFF;
}
</style>
</head>
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<body>
<div class="container-fluid">
{% block content %H% endblock %}
</div>
</body>
</html>
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Al 2 E 72 1/5)

e
JHE 0
C 1
Ci+ S AHIH
DIANGO
MYSOL
=)
CREATOR

A| AH] 7l 5F2/5)

2 71E e (1/4) |

O Ad-Hoc 8%

Ad hoc Connection | Ad-Hoc UIES®Z : P2P(Peer-To-Peer)g}
void usrfunc:adhaocFund listload & listMan2) | Ad-hoc EXl& T2 164

1
WHTFlag=false; //true in whitelisted packet
ELKFIag =false; //truein blackisted gackzetd
Jfwht list!
printf{"CHECK IBSS\n\n");
forlit=listMan2 WhltELiSt I:rEgmi] lt |—ilstManzwhiteList.endi];it-H-]{

e e

macC.m_..E.F.i.a..g—m&tw,&imw-:ﬂﬂ]ﬁ];
printf("MAPS] 1BSS £ %d 1 H| W F\n" bwDatas adHocstat);
IfimacCmpFlaz ==0){

cmpFlag=memcmo|&(bwDatas. adHocStat), &(1B5S Status),1);
iflcmpFlag ==0){

printfl"0| 0| H Z = 155 [WHITE)\n");

WHTFIaE true;

~ O]} M&f ~
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A28 IH R GE/5)
22712 H2(2/4) |

O H|2I7} AP &&(Client Mis-Association)
Client Mis-association | 217pE S210|AUET} 2|52 HII7} AP F&

void usrfunc-macCmp(itioad listMan2] [ BIo AP B X Z=Tw
{

WHTFlag=false; /ftrue in whitelisted packet
BLEFlag =false; /ftruein blacklsted packet
int length = RF Slength;
Managementframe *MF = (Managementframe®)(pktPoint+length);
intcmpFlag=0;
listload::bw list-iteratorit;
printf("AP MAC CHECK\n\n");
foriit = listhMan2 WhiteList begini ;i I=listMan 2 W hiteList end();it++}{
bwDatas = (listload:bwlist)it->second,
Erintﬂ“g\lﬁcum pare with %02x %02x %02 x %02 x %02 % %02 0’ bwDatas.a

oo N

//wht list!

A| AH] 7|5 4/5)

(22 712 He(3/4) )

O HoraH 2E(Mis-Configured) AP

Mis-confiured AR | 21551 0|2, WEPS} 22 oFst £Z0] Hot
int usrfunc:misconfigureAP(listload & ligMan2) | Holxzy gl EMT|E == 164

{
ff#****************** **F‘lag 5&‘3********** FEE Tk
if(sM.oU1[0] == 0x00 && sM.oUI[1] ==0x50 && sM.oU1[2] ==0xf2 &&
5M_gC55[0] == Ox00 && sM gC55[1] == OxOf &8 sM gC55[2] == Oxac)//OUI 00-50-2 &&
OUl 00-0f-ac-=WPAZ
{

~ Z=0k~

ffa=20; /fWPA-2 flsg:20
sFenc=WPA2;

sf.eroupCipher =Cipher{sM.gCsS[3]);
sF.painviseCipher = Cipher{sM.pCS3[3]);
sF.auth = Auth(sM.a55[3]);

1
else if(sM.oUI[0]==0xn00 && sM.oUI[1] == 0x50 &E& sM.ol1[2] == OxfZ)//OUI 00-50-2
> WPA-1

~ 0]3t W= ~
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Al 2 E 72 (5/5)

-

| 24 7|= JHL(4/4)

)

O HE S AP(Fake AP)
| Faks AP l ZIoIXH= 7| =EL B2M APS T 0|20 22

void usrfunc:fakeAp(listload& listhMan2) | Fake AP SHXIR Z=¢4
{

WHTFlag =false; /ftrue in whitelisted packet
BLEFlag =false; /ftrue in blacklsted packet
uint8_t* pktPoint2 =this->pktPoint;

st e et e et N ih :l

printf("FAKE AP CHECK\n\n");
struct packframes: WifiName *wifiName;
ff5551D$:££¥3%¥$¥%%&¥&¥%%k#E%EE%&%&:&¥i¥¥&¥%:$:s:s*:s:s*:::ss:::s::s:s::s:s:s:ff

rintfl"™\n"};
ffss][}*#fp*g#f*ﬁ'i#E*-‘p]#*#3#33*###3*########-‘p-‘r4:#-‘r*3##-‘p-‘p3#3#33#3#33*3##3*#3#-‘»3##3#1{'{
pktPoint2 += iﬁIH.%as'.%r-:ﬂhﬂ!?nith + sizeof(struct packframes:ManagementFrame)
= Ot ey ~

i A|AH 2H(1/7)

TEN

Filp Edt View Search  Terminal  Help

= H 27 1c b7 9f 89
ENROLL AP SSIDZ 0| = 8
oll DB to HAPI

SID JBU-WiFiZ} H 2 &

WHITELIST ENROLL

enrall DB to MAPRI SSIDIWHITE)

SSID(BLACK)

ing

- sordered! (FAKE AP)

AP MALC CHECK

pkt 1e 89 c3 c@ AP RULE CHECK

i 1c b7 9f o9
AC IWHITE )

disordercd! (AP HAC)

AP RULE({WHITE)
AP RULE{BLACK)

W 23
{WHITE )
LACK ]

sordersdl fap RIEL

disordered! (ad k=t

Ap MAC / Ad-hoc H3
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| EtXl 1 : Ad-hoc HIEY3

Ad-hoc EXI
ICHECK IBSS

cmp ibss with ©
[LISTED IBSS!(WHITE 0211 MAC 85 TqY B
iBSS5ID: ac a3 le BaP . 4

ie o n Frame | Duration/ | o R DY EE
DA | SA BSS IDY o= -1 =
icur leng is 8 Fastsall 4 A BSS 1Df 2o oy BE§ i

0-2312

Z Ho| e

: e shart it
= =Bl

gss [iess | SF - | CFPO foriaey |preamare| PBCC

Pollable [Request a0z 11k | B92110

ol LL

2 3 - ] 7

= &2l 1IBSS 20| 12! 3F
Ad-Hoc HEZ3 = EHE

& =% -- B0211 MAC 80
AUTH = =

s T Frame |Cwration/] Address |Address{address | A E= | address [
ENC = WPA2 3 {comrel] 1o 1 | 2| 3 H H
CIPHER = CCMP E 5 2 & B & 2 & 0-2312 4
""""""""""" o]
AP RULE({WHITE) -
i | Protocol | I Ta Eram re | Ponner | o otectady
2l i X SRRttt | v |7 os | oo | g | B e o Frame |79

Protected Frame Z=7} 0 0|8 OPENO] 2,

10|81 WEP MFo= HotM F4sto= Hory | ojgt
== BE
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*PACKET CAPTURE*=*=*=+=+=+= RPN 8= g

AP MAC CHECK

pkt compare with ac a3 le 89 c3 e@
i bssid 70 25 59 16 9e 28
= @ = AP MAC(WHITE)
with 0@ 27 1lc b7 9f 09
with 70 25 59 16 9e 28
W& E AP MAC!(BLACK)

Frame |Duration/| 2= | 2 [F2& |Sequence| =2 Frame FCe
Contral {#] 1 2 3 Control a body
1
2 2 -] 6 6 2 6 0~ 2312

Q= AP Z< EIX|E= Data Packet?] =241, T4 =432 il

E4510{ 2|5 AP2} 2171l ALE X2 MACO| AR = ASE BX

i A|AH 2H(5/7)

| EtX| 4 : Fake AP EtX]| |

Fake Ap EXI
FAKE AP CHECK

BSSID: 18 c¢5 01 10 d3 86
24 D42 AP SSIDZI 0| = 9
LISTO| A 2 SSID JBU-WiFi

AEN Q&= SSID(WHITE)
cmp ssid U+NetD387
0| 0] A & £l SSID(BLACK)

1. I§Z12] SSID2} UR|5H= ZH0|ER|AEAR| AP2| SSID7} =] &2l
2. SUH SSIDII EM5E 2, I%I2) BSS 1D} SIS AP2] MAC FAS H|
3. I§Z12] BSSID2I AP2 MAC F27} Ux|51X] = I} Fake AP S22t EHEL
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